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trans - polyacetylene

cis - polyacetylene

poly(para-phenylene)

poly(para-phenylene-vinylene)
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�� 	=� ��
�
�	����	�� ����	
��
�
� �� ���	���������, 	�� ������	 ��������  ������
� ����	
� 47*�*5 
�� 	��
��=��	 ����������  ������
� ����	
� 4<��*5� :� π ���� ��� 
�� ������ C − C

�� ������ C = C ����� =���� ��� 	�� �������� ��	��	�
�� +���� ����	��

�� ��G����	� =���� �����	� �� ����		��� �� 	�� ��	��
�	��� ����	
�� ��  ��� ��
���	�� +�� ����	 ����	
�� ��� 	�� �
�� �	���	���� +��� ��
�� 	� 
 ��� 
	��� ��

 �
����� �
�� ��� 	�� ������	 ��������  ������
� ����	
�� ��  ��� �� ���	�

�� 
�� 
 ������	��� �
�� ��� 	�� <��*� �� 	�� ���� ��
�� ���� �� ����� �	
	�
�� �������	���� +�� �
�� �	���	��� �� ��� �� ������
� 
�� �� ��� �� 
���� 	��
���� �� ��
��� 
� ��	����
�� �������� �� �
	��� � 
�� ED��"'F� �� ������ �
� ��
���&��
	�� ���� ��� 
����� ��� 	�� ��G������ �� ����	� ��	=��� ����	 4������5
����� 
�� ���� 4������5 ����� E6
�"'F� +�� ������ �
� �
���� 	����
��� ��� 
1.5 �0 	� 3.0 �0 
�� �
� �� �
���� �� ������ E���"8F� -��� 
 π ���	� �;	����
���� 
 �
��� �� ��� ��  ��� ���� �� π ����	���� 
�� ����������� ��� ������	����
������	��� �� �	������ 
����	�����,  ��� ������ 
���� 	�� ���&��
	�� ��
���
:� 	�� ��	������ �	
	� 	�� ������	��� �
�� �� ��
�	��
��� ��	 ��������� +��� ��

��� 	� 	�� �
��� �
�� �
�� ���� 1.5 �0 ��� �)�*+,�-- E?H�+""F� +� �����
	�
 ����� �
������ 
 ���� �� �
� 	� ������� �;��
	��� 4�2������5 
��J��� ���� ���2
>���	��� �����	��� 4�2������5� +�� =���� ���&��
	�� ��
�� �� �� ����� �� ������
 �������� &����� =�	� �
�� �	��� �� ���
���	 ������ +�� ������ ��
��
 �� 

���&��
	�� ���� ��� 
 ������  ������� 
�� 	�� =���� ����	
�� �� ���=� �� ����$�(�

8



σ bond � bond

� bond � orbital

σ orbital

�* orbital

optical
excitation

σ* orbital anti-bonding 
orbital

bonding 
orbital

En
er

gy

}

}
������ $�!, %��&��
	�� π ����	��� ���	� � 4���	5 σ ���� �� 	�� 
	� �� ��
��

�� π ����� ��� �� ��� pz ����	
�� �� ��
�� �����������
� 	� 	�� 
	� �� ��
���
4����	5 )����� ��
��
 �� 
 π ���&��
	�� ���	� �� +�� ��=��	 ��	��
� �;��	
	����

�� ��	=��� 	�� ������� π 
�� 
�	�2������� π∗ ����	
� E���"8F�

��� ����
����� 	�� �

��	� 
��
��
��� �� 
�������

*=��� 	� 	�� �	���	��� �� ���&��
	�� ���� ��� ��	�
 ������
� ����	����� ��	��2

�	���� 
��  ��� �	������ 	�
� ��	�� ������
� ����	����� ��	��
�	����� *����
�
��	=��� ����	����� =
�� ����	���� ���� �� �����������  �������� �� ���� 	�
	I�
=�� 	�� �;��	�� �	
	�� 
�� ���
��3�� �� ������ ��
��� E���"8F�

%�
��� �
������ ��&��	�� ��	� 
 ���� �� ��� ���
���� 
���� 	�� ���&��
	��
��
�� E%<99#8F� =���� �
� �� ����	����� 
�� ���
	����� ��
����� � ���
���
�� 
  ����� ��
��� �
����� ���� 
� ������� �
		��� ���
��3
	���� =���� ��� � 
�

��� �
����� ����� �� �������� :	 ���
��� ���� 
 ��
�� �
�	����� �� �	 ���������
��
		����� ��������� 
���������� 	� E��'$F� �� ����	��� =�	� 
 �����=��� �����
�� ������� ��� � 
 ���
	��� ���
����

���� �� ��
��� 
�� �� ����� �� ������  �������� ��� ��� ��� ��	� 4��� ����$�/5�
:� 	�� ������	 ��������  ������
� ����	
� 47*�*5 �����	 ����� �
� 
��� ��� ��2
�
����� =���� 
�� ����	����� ��
���� �� 	��� �
��� �������� 
�� ���
����� ���
����
�� ��
��� �
������ 
�� 	�� ���=� ��
���� ��� ������� 	�
�����	 4 ��� ��	
��� ��
���	��� !�/5�

+=� ���
���� =�	� ������	� ��
���� �
� ��� 
� �;�	��� 
 ����� ����	���2����
�
�� ED��"'F� +���� �;��	��� 
�� �	������ ����� 
�� ���
��3�� �� ���  ��������
+��� 	��� �� �;��	��� �� �
���� ������� �;��	���� +�� �;��	�� �
���� �� �� �
�
���
=�	� 	��  ������� ��
 �	�� 
�� �� �� 	�� ����� �� �
�� �	���� =���� �����	�
�� ���� ������� �������� ≈ 0.5 �0� :� ������	���
� �� �������	��� 	�� �;��	��
������� �������� 
�� ��=�� 	�
� 	�� 	��� 
� ������ 
	 ��� 	� ���
	��� 25  �0�

#



AG

AG=AG+Pe

Ee

Eg

_
Ph

_
Ph

_
Pe

Eh

VB

CB
IG

IC

E
Sn

S3

S2

S1

S0
a b c d

 _  _
-∆Pe

+∆Pe

0 Ge(E)

Gt(E)

+∆Ph

-∆Ph

0 Gh(E)

Et

Traps

������ $�(, )����� ��
��
 �� 
 π ���&��
	�� ���	� E-�"1F� IG �� 	�� ����3
	���
������ �� 	��  �������� AG �� 	�� ����	��� 
K��	��

5 )����� ��
��
 �� 
 ������ ����	
�� ��� ��� 	�� ���&��
	�� ��
��� :	 ������	�
�� 	�� ������ �	
	� S0 
�� �;��	�� �������		� Sn�
�5 )����� ��
��
 �� 	�� ������� 	
������ *����
����� 7*�*� ��� 
 �
�����
�
�� 40�5 
�� <��*� ��� 
 ������	��� �
�� 4%�5� Eh� Ee 2 ������ �� �����

�� �� ������	��� ����	����� Eg = Ee−Eh �� 	�� ������ �
� 
�� P̄e� P̄h 2 
���
��
���
��3
	��� �������� �� ����	���� 
�� ������
�5 -��=� 	�� �	
	��	��
� ���	����	��� �� 	�� ����	��� 
�� ���� ���
��3
	��� ��������
Pe� Ph� +��� ��� 
 �����	� �� �	
	��� ������������� Gh(E) 
�� Ge(E)�
�5 � ���	���
��� �� 
 �������� �	���	���� 	������  ������� ��������� ��
�� 	�
���
	��� �� 	�
�� =�	� 
 ���	
�� �����	� �� �	
	�� Gt(E)� ���
��3
	��� ��������
Pe� Ph ������ �� 	�� ����3
	��� 
�� 
K��	� �� 	��  ������� 
�� 	�� ����	
�
Pe = AC − AG� Ph = IG − IC �

$"



=����  �
�� 	�
	 
�����	��� �� ����	 �����	� �  ���
	��� �� ��
��� ���
�
	����
%�
��� �
������ �� ���&��
	�� ���� ��� �
���	 �� ���
�
	�� �
���� ���
��� ��
	���� ���� �;��	�� ������� �������� E���"8F�
+���� 
�� 	���� ��G����	 	���� �� ��	��
�	��� ��	=��� ����	���� 
�� �������

�� 
 �������  
	���
��, ������� �
� ��
		�� 
� ����	��� ���	����	��� 	� 	�� ��2
���	
���L ������� �
� �� 
������� �� � �		�� �� ����	��� �� ������� ������	���L
������� �
� �� 	�
���� �� ����	���� 
�� ��� 
 ���
����

��� ������
��� 
������ ���������

�)�*+,�-- �� 
 =����� ���� ������	��� ���� ��� ������� ��
	���� ��� 
� ��2
	������
��� ������	��� 4:%5 ���� �� ���	
��� ��� ��  ����
� 
�����
	���� 
�� ��
������ ���� ������	���	�� �� �
�
��� =�	�  �	
��� ���� �	
����	� �� 
�� �� �	���
���������� �����	���� 
�� �
�� �������
����	�� � ���
�	������ �� 
�������� 	���

� =
� 	�� �����	��� �� ���� ��� �� 	�� �������� �	���������;�	�������� �����

�� �	� �����
	���� �� �
��� %�����
	� 9���
��� <
���
	����� ED9"1F�

����� �����	��
�� 
��
��
��	

+�� �)�*+,�-- =
	�� ����	��� �
� 
 ���� ���� ������ �)�*+,�-- @� � 
��
	�
���
���	 �� 	�� ������� �
��� E�?:"!F� +���� �� 
 ��������
��� ��G������ ��2
	=��� �)�*+ 
�� �)�*+,�--� �)�*+ �� ��	� �� ������ ������	���� ��2
��� �	���	�� ���	������ �����	���� ������	���	��� 
� ���� 
� $""" - � −1 �
� ��

������� ��� �)�*+ ED9"1F� +�� ������	���	� �� �)�*+,�-- �� ���; �� ���2
��@�
�	�� ��=�� 4+
��$�$5� +�� ��� �� ������	�� ���� �����	���� 
G��	� 	�� ����2
 �� �	���	��� 
�� ����	��� ������	��� �� ��	������
��� ������	��� �)�*+ E6
�"'F�
%�����	���	� ���
��� ��	 �� �������� ��
 ��� ��
� 
���	�����
�� 	�� ����� ���	��	 �� 
 �)�*+,�-- =
	�� ����	��� �� �� 	�� �
��� �� 1% 	�

3%� 
���� ���2���
	��� �� �����	� �� 
� � ����	� ���	��	 �� ���� 1% �
� ��B�2
���� 	�� @� �� ����	��� �� 	� 30%� +�� �	
����	� �� �)�*+,�-- �� �;������	�
�	 �
� �� ��
	�� �� 
�� 
	 100◦% ��� ���� 1000 � =�	� ���� 
  ��� 
� ��
��� ��
������	���	� E?H�+""F�
-��� ��
	��� �� 	�� 
>����� ���������� �� �)�*+,�-- �� 
� �
�� 
�� ���2

������	 =
� 	� ������	 	��� @� � �� ������� ����	�
	��� ��� 	���������� �� 	��
�
��� 20 nm − 2400 nm �
� �
���� �� 
��������

����� �
���
���

�)�*+,�-- ������� 	� 	�� ����4�	���������;�	��������5 ������ :	 �� 
� ��2
	������
��� ������	��� ���� ��� ��=���� �	 �� ���	
��� �� 
�� 
�� ��	 ������� ��
��  �� ������	�� =���� �� �	� �	� 
�����
����	� ��������
���� ����	��� �� 
 ���
2
	����� ��
���� �-- ����� �
� 
 �	
����3��� ����	��� ��� ����	����� ��
���� �)�*+

$$



�)�*+,�-- -���� ���	��	� [%] %�����	���	� E- � −1F ������
	���
1 : 2.5 1.3 1 ��	��	
	���
1 : 6 1.5 10−3 *<)��
1 : 20 3.0 10−5 �
�����  
	��; �����
��

+
��� $�$, �)�*+,�-- �
	�� ��������	 ��
�
�	����	����

SO3SO3 SO3SO3H SO3H SO3H SO3H
--

n

OO

OO

S
S

OO

OO

S
S

OO

OO

S
S

2+

m

PSS

PEDOT

)(

)(

������ $�/, �)�*+,�-- ��� ��
� �	���	��� ED��"'F� -�� 	�;	 ��� ��	
����

���� ED9"1F� �)�*+,�-- �� �� ����� �� 
 ������	��� ����4(�/ 2 �	������2
���;�	��������5 �����
	��� 4�)�*+5 
�� 
� �����
	��� ����4�	�����������
	�5
����
���� 4�--5� +�� ��� ��
� �	���	��� �� ���=� �� 	�� ����$�/� �)�*+ ��

 �2	��� �� �������	��� =�	� 
 ��= �
�� �
� �� 1.5 2 1.6 �0� ��� 	� ������
=�	� −SO−

3 ������ ��� �-- E-?�"'F� 	=� �;���� ����	��� ��
���� 
�� ��&��	��
���� ��;  ��� �� ���	�� +��� ����� ���� 	� �
����� �
�� �����
	��� 
�� ����
������	���	��
+�� �����	����� �������� 
���� 4�--5 �
� 	=�  
�� ����	����� ����	� �--

�� 
 ������ ��� 	�� ��
��� �
�
����� ����	�� ����� :� 	�� 
������ �� �-- 
�
�;��
	��� ������	 �� ��� �� �� 	�� �)�*+ ��	�� -�������� ���
��� �)�*+

���� �� ����������� 
�� �-- ������������ �-- ����� �)�*+ ��� ��	� ���������
�� 
 =
	�� ����	���� �)�*+ π ��
��� 4����	5 
�� �	
�� =�	� 
 ����
	��� ���	
���
0.68 nm ����$�1� +�� ����	�� ���� ��� �-- 4�
��5 
�� ��������
	�� ��	=���
�)�*+ �	
���� +�� ��3� �� 	�� =���� �	���	��� ������� �� 	�� ����	�� ����
ED9"1F�
- 
�� �
�� �	�� ��3�� ����2����� 
���� ��
	�� =�	� �-- ������ 
�� �����

��� �� �� 
>�
����� ����������� ED��"'F� �� 
 �����	 	�� �)�*+2�-- �� ���;
��� � 
 �	
���� �
�� 	� �������� =
	�� ����	����
� �	���	��
�  ���� �� ���=� �� 	�� ����$�. ������ ���� ���3
	��� ����� ����

$!
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Charge balancing 
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PSS-chain with PEDOT oligomers
and tertiary structures

Tangle of PEDOT:PSS chains

Gel particle (95% water,
5% polymer)

Polymer-complex
PEDOT:PSS

Structure of PEDOT:PSS
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Silver paste electrode
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∇ · �D = 4πρ, 4!�$5

∇× �E +
1

c

∂ �B

∂t
= 0, 4!�!5

∇ · �B = 0, 4!�(5

∇× �H − 1

c

∂ �D

∂t
=

4π

c
�J. 4!�/5
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′, t, t′) �Ej(�r
′, t′)dt′d�r ′, 4!�.5
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=���� ¯̄εi,j �� 
 ������	��� 	������ :� 	�� ���>����� �� 
�� 	���� ���
	������� ��
����� �� EH
�##F

�Di(�k, ω) = ¯̄εi,j(�k, ω) �Ej(�k, ω). 4!�'5

+�� ��
��� �����	� �� 	�� %���� �I� �
= )>�4!�$5 �
� 	=� �� �����	� EH
�##F

ρ = ρext + ρpol, 4!�85

=���� ρext �� 	�� �;	���
� ��
��� �����	� 
�� ρpol �� 	�� ����� ��
��� �����	��
=���� �� ��� 	� 	�� ���
��3
	��� EH
�##F,

ρpol = −∇ · �P . 4!�#5

:� 	�� ������	�� �;���� ��	 
� ����	�� 
���	�� =
�� =
� ���&��	�� ��	� 

�
 ���� +�� ����	��� @��� ������ 	�� �
 ��� ��
��
���� 	�� ��
��� ���	����	���

�� ������� ���
��3
	��� �P � :	 �� � ���	
�	 	� @�� 	�� ���
	������� ��	=��� 	��
������� ���
��3
	���� =���� ���
	�� 	� 	��  �
����� 	�
����� ����	��� �� 
 �
 ���
4�������; �5� 	� 	�� ��	����	���  
	���
� �
�
 �	���� ���� ������	��� ����	����
:� 
 �����
� �
��� 	�� ���
��3
	��� �� ��	 ������
���� ������	���
� 	� 	�� 
������

����	��� @���� ���� �� �������
�  ���
� +�� ���������� �� 	�� ����	��� ���
��3
	���
�P �� 	�� ����	��� @��� �E 4�� 	�� @��� �� =�
�5 �� ����� �� 	�� +
���� �;�
�����
E-+"'F,

Pi =
∑

j

χ
(1)
ij Ej +

∑
j,k

χ
(2)
ijkEjEk + ... 4!�$"5

=���� χ
(α)
ij.. �� 
 �������
� ������	�����	�� ��� ����
�  ���


�P = χ�E�
+�� ������ ����� �;�
����� ��������� 	�� ������I� �G��	 4��� ���	��� (�(�$5�

��� ���	��� ��������
	���� =� 	
�� ���� 	�� @��	 	�� �� 	�� �;�
����� ��	� 
�2
����	� 
�� ����  ���� =� 
��� � 	��  ���
 �� ����
�� ��� 	�� �����	��
	��  
	�2
��
�� �)�*+,�--� =� 
��� � 	�
	 �	 �� �� �������� 4O$5� ����
� 
�� ���	������

�� 	�
	 	�� �����
�� ��	 ���	�� �D(�r, t) �� ������	���
� 	� 	�� ����	��� @��� �E(�r, t)�
+���� 
��� �	���� �����= 	�
	 ¯̄εi,j �� 
 �� ���; ��
�
� ε 4O!5� +�� �����
�� ��	
���	�� �� �>�
� 	� E�?"!F,

�D(�k, ω) = ε(�k, ω) �E(�k, ω) = (1 + 4πχ) �E(�k, ω) = �E(�k, ω) + 4π �P (�k, ω), 4!�$$5

χ �� 	�� ����	��� ������	�����	��
:� 
�
���� 	� 	�� ���
	������� ��	=��� 	�� �����
�� ��	 ���	�� 
�� 	�� ����	���

@��� )>�4!�'5� =� �
� ������ 	�� ���
	��� ��	=��� 	�� ������	 
�� 	�� ����	���
@���� 
���	���
��� =� 
��� � 	�
	 	���� �� 
 ���
� ���
	������� ��	=��� 	�� �����
>�
�	�	���� ��	 	���� �
��
	��� �� ��
�� �� ����	��
� 
�� 	�������� 	���� �
	�� ����
��	 ������ �� ����	��� 4O(5 E�?"!F�
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�D(�r) = ε̂ �E(�r), 4!�$!5

�J(�r) = σ̂ �E(�r). 4!�$(5

+��� �� 	�� ���>����� �� 
�� ��	� >�
�	�	��� 
�� ����������	 �� 	�� =
�����2
	��� :	 �����=� E�?"!F,

ε̂(ω) = ε1(ω) + ε2(ω), 4!�$/5

σ̂(ω) = σ1(ω) + σ2(ω). 4!�$15

��� 	�� �
;=���I� �>�
	���� �����=� 	�� ���
	������� ��	=��� 	�� �� ���;
������	���	� 
�� 	�� �� ���; ������	��� ����	��� E�?"!F,

ε̂ = 1 +
4πi

ω
σ, 4!�$.5

ε̂ = ε1 +
4πiσ1

ω
, 4!�$'5

=���� �D = ε̂ �E� ε1 ��������� 	�� ��
�� ����	 �� 	�� ����	�� 
���	�� =
�� �
����
�� 	��  ���
 
�� ε2 = 4πiσ1

ω
�� 	�� ��
��� ��  
���	���� �� 	�� ����	�� 
���	��

=
�� =��� �
����� 	������ 	��  ���
�
����	���
���� =� ��@�� 
 �� ���; ����; �� ����
�	��� 
� 
 �� �� 	�� ��
�

����
�	��� ����; 
�� 	�� �;	���	��� ���K����	 E�?"!F,

N = n + iκ =
√

εμ =
√

ε, 4!�$85

=���� 	�� ��
� ����; �� ����
�	��� ����� 	�� ���
	������� ��	=��� 	�� ��
��
������	� �� ����	�� 
���	�� =
�� �� 
  
	���
� 
�� ����� �� ����	 �� �
��� 
vph = c

n
�

�� 
��� � 	���� 
�� ��  
���	������	��� �G��	� �� �)�*+,�--� +��� 	��
��� �
����	� �� μ̂ = 1 + 0i 4O/5�
+� ��  
��3�� ���� 
�� 	�� 
��� �	���� 4O5 ���  
	���
� �
�
 �	�� �����
	����

$� �
 ��� �� �� ��������

!� �
 ��� �� ����
�

(� �
 ��� �� ���	�����

/� �)�*+,�--I� ��� �
����	� �� μ̂ = 1 + 0i 4O/5

+��� 
��� �	��� �� �
��� �� ����	� ��
��� �� ��	����	� ���� ����	���  �
� ����
�
	�� 
�� �
���� 	�
	 	�� �����
�� �����	���� �� 	�� ������ � 7�=����� ��
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	�� ��������� �;���� ��	� 	�� ����� �� 	�� �
��� ���	� ��@���� 	�� �����2

�� �����	����� �� 
����;� 
	��� 104 μm� =���� 	�� ���
��3
	��� ����	�� ��
����	���� �� �)�*+,�-- 
�� �� 	�� ����� �� 50 � E6
�"'F� ��� 	��� ��
���
=� �
� 
��� � ε̂(�r) = ε̂ 
�� σ̂(�r) = σ̂

��� ������
��� ������

:� 	��� ���	��� 	��  ���
��� ���������� ������	��� =��� �� ���������C � �� 2
���@�� ����� ��������
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����
�� 	� ������	
�� 	�� ����	���
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����� 	�� ����� ������ =���� =
� �������� �� �
�� ����� E���""F 	� �;��
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�����	 ������	��� �� ����	���� ��  �	
��� )���	�����
 �� �������� �� 
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��� =���� ��	���
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���� +�� ����� ����� ��������� 	�� ���	����	��� �� 

���� ����	��� �
�� 	��� 	�
���	���� ��������� �� 
 �
�	�
��� @���� �
�� ��  �	
�� 2
��	�
�
�� 	�
���	���� E���".F�

��� ����� �����

+�� ����� 	����� ��  �	
���� ������	���� =���� =
� ������	�� 
	 	�� ���������
�� 	�� 	=��	��	� ���	��� E���""F� ���=� 
� 
����
�� 	� �;��
�� ��=  
	���
��
������	 ����	����	� �
��� �� 	�� ����	�� 	����� �� �
���� :� 	��� 	����� 
  �	
�
�� ���������� 	� �� 
 �
� �� ����� �� ����	����� +���� ����	���� 
�� �
�����
����	���� �� 
� 
	� � *��� 	��� ��� 
� ����	��� �
�� 
� ����	����� ��
���� ����

�� ���������� �  ������ +��� ��	�
	��� �� ������	�� ���� 
	��
��� �� ����!�$�
)
�� 
	� �� 
� 
	� �� �� ��� Za �
� Za ����	���� =�	� 
 	�	
� ��
��� −eZa�
=���� e = 1.60 · 10−19 C �� 	�� ����	��� ��
���� � �
�	 Z �� 	���� ����	����

�� =�
��� ����� 
�� 
�� 	�� �
����� ����	����� 	��� ��	
�� ��� 	�� 
	� 
��
���� � ������	��� ����	���� �� 	�� ����	��� �
�� +�� ���	 Za−Z 
�� ���� ����	����

�� 
�� �	������ ����� 	� 	�� �������� +��� ���I	 �
�	����
	� �� 	�� ������	���
��������

+���� 
�� 	=�  
&�� 
��� �	���� ���������� ����	��� ���
����,

$� ����	���� 
�� ����������	

!� ����	���� 
�� ����

+�� @��	 
��� �	��� �
�� 	�
	 ����	���� ���I	 ��	��
�	 =�	� �	��� ����	����
4�� ����	���2����	��� ��	��
�	���5� ��� 	� 	�� ������ 
��� �	��� 	���� �� ��
��	��
�	��� =�	� ����	����� ��
���� ���� 4�� ����	���2��� ��	��
�	���5� +�� ����	���
@��� �������� �� ��	� ����	���� 
�� ���� �� ������	���
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Core electrons

Valence electrons

a) electron path
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-e(Za-Z)

eZa

-e(Za-Z)

eZa

-e(Za-Z)

eZa

-e(Za-Z)

eZa

������ !�$, ����� ������	���  ���� E��'.F, 
5 
� ����
	�� 
	� �5 	�� �������

�� 	�� ��� ���� �� 
� 
	� �� �  ������ �
����� ����	���� ��� ����	��� �
��

)���	����� 
� �
� �
�	����� �� 	�� ����	�� 	����� �� �
���� 
�� 	��
	�� 
� ����	��
�
����� �������� +����  �	��� �� �������� �� 6�=	��I� �
=�� +�� ����	��� �>�
	���
��  �	��� �
� 
 ��� )>�4!�$#5 E��'.F,

d�p(t)

dt
= −�p(t)

τ
+ �f(t), 4!�$#5

=���� �p(t) �� ����	���I�  � ��	� �
+�� @��	 	�� ������
	�� ��� 	�� 6�=	��I� �
=� 	�� ������ �� 
 �
 ���� 
��

	�� 	���� �� 
 ������� ������
)���	����  ��� ������ �� �� �	�
���	 ����� ��	�� 	��� ������� =�	� �	��� ����2

	���� �� =�	� ����� %��������� 
�� ���	
�	
����� 
�� ����� =�	� 
 ����
����	� 1/τ
��� ���	 	� �� =����  �
�� 	�
	 
� ����	��� =��� 	�
��� �� 
���
�� ��� τ ��	��
	�� ��;	 ���������� τ �� �
���� 
 ���
;
	��� 	� �� +�� ����	��� ������	� 
�	�� ���2
������ ���� ��	 ������ �� 	�� ������	� ������ ���������� :	 ������� ���� �� 	��
���
� 	� ���
	���� ��� ������ 	� ���
	���� 	�� ����	��� ����� 
�	�� ��������� ��
������ E��'.F�

����� ������
���
� �� 	����	 �� 
�� ����� �����

: ���	
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������	 B�= �� 	��� �
��� :� 	�� �������� �� 
� �;	���
� ����	��� @��� �E ����	����
=��� �� 
������
	�� ����� �	� ��B����� 
�� 	��� 
�>���� 
� 
���	���
� ������	�
−e �Et

m
� +�� 
���
�� 	� � 
� ����	��� 	�
���� ��	=��� ���������� �� τ � �	 �� 	�� 	� �

�	 	
��� 	�� ���	� 	� ��
�� �>�������� � +�� 
���
�� ������	� �� 	�� ����	��� �
�
�� ����� �� E��'.F,

�vave =
e �Eτ

m
. 4!�!"5

%�����	 �����	� �� �
�
���� 	� 	�� ����	��� ������	�� ���� n ����	���� ���
���	 ���� � 	�
��� =�	� 
� 
���
�� ������	� �vave 	��� �� 	�� 	�	
� ��
��� −en�vave

������� �� 	� � 
 ���	 
��
 �����������
� 	� 	�� �����	��� �� ����	��� B�=� =����
�� 
 ������	 �����	� �j� 	��� E��'.F

�j = en�vave. 4!�!$5

-���	�	�	��� )>�4!�!"5 	� 4!�!$5 ����� 
 �����
� �;�������� ��� �% ������	���	�
σ0 �� 	�� �����  ���� E��'.F,

�j = (
e2nτ

m
) �E = σ0

�E, 4!�!!5

σ0 =
e2nτ

m
. 4!�!(5

�$ $����	�
'
�


-������ 	�� ����	��� �>�
	��� ��  �	��� )>�4!�$#5 =�	� 	�� 
���� 
��� �	����

����� 	�� ��B����� �� 
 	� � ��������	 ����	��� @��� �E(t) = �E0 exp(−iωt) ��
��
	� 	�� ���>����� ���������� �� ������	���	� E��'.F,

σ̂(ω) =
e2nτ

m

1

1 − iωτ
=

σ0

1 − iωτ
=

ω2
p

4π

1

1/τ − iω
. 4!�!/5

<�	 σ̂(ω) = σ1(ω) + iσ2(ω) =���� σ0 = e2nτ
m

= 1
4π

ω2
pτ �

σ1(ω) =
ω2

pτ

4π

1

1 + ω2τ 2
, 4!�!15

σ2(ω) =
ω2

pτ

4π

ωτ

1 + ω2τ 2
, 4!�!.5

	�� ωp �� �
���� 
 ��
� 
 ���>������ :	 �� 	�� ���>����� 
	 =���� 	�� ��
� �
�	
�� 	�� ������	��� ����	��� �
������ ωp = 0� �	 	�� ��
� 
 ���>����� 	��  
	���
�
��
���� �	 ��	��
� ������	��� ��� 	���� �� 
  �	
� 	� �����
	�� E���F�
:�	���
	��� �� Re(σ̂) ���� 
�� ���>�������
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∫ ∞

0

σ1(ω)dω =

∫ ∞

0

ω2
p

4π

d(ωτ)

1 + (ωτ)2
=

ω2
p

4π
arctan(ωτ)|∞0 =

ω2
p

8
. 4!�!'5

��� 	�� ���
	������� ��	=��� 	�� �� ���; ������	��� ����	��� 
�� �� ���;
������	���	� )>�4!�$.5 ������� �� ��
�	�� !�$ =� ��	 
� �;�������� ��� 	�� �� ���;
���>����� ��������	 ������	��� ����	��� ε(ω) E��'.F,

ε̂(ω) = 1 − ω2
p

ω2 − iω/τ
. 4!�!85

+�� ��
� 
�� � 
���
�� �
�	� 
�� �>�
� 	�

ε1(ω) = 1 − ω2
p

ω2 + τ−2
, 4!�!#5

ε2(ω) =
1

ωτ

ω2
p

ω2 + τ−2
. 4!�("5

+�� ��� +73 ����	������� ��	����	��� ��	��
�  
	���
� �
�
 �	���� ε1� ε2� σ1�
σ2 �
� �� ��
�
�	���3�� �� 	�� ��
� 
 ���>����� ωp 
�� 	�� ���
;
	��� 	� � τ �

����� �

���� 
��
��
��	

+�� ��	��
� ������	��� ��	�� ��� 	�� ���>����� ���������� �� ��	��
� ������	��2
�	� σ̂ 
�� �� ���; ������	��� ����	��� ε̂� +� ��		�� ������	
�� 	�� ������	���� ��
	�� �����  ���� �� 	�� ������ !�! 
�� ���		�� σ̂ 
�� ε̂ ��� +73 ���>������� 
��
��� �;� ��
�� �
���� �� ��
� 
 ���>����� νp = ωp

2π
= 30 +73 
�� ���
;
	��� �
	�

γ = 1/2πτ = 0.5 +73� <
	�� �� =� =��� �� �
�� 	�� �;���� ��	
� �
	
 =�	� 	��
���� ������	�� ����� ���������
��������� �� 	�� ���>����� �
��� 	���� 
�� 	����  
�� ������� �� ��	��
�

���
����� ⎧⎨
⎩

ω � 1/τ
1/τ � ω � ωp

ωp � ω

+�� �;	���	��� ���K����	 κ �����
	��� 
�����	��� 4��� ��
�	�� !�$ ��� ��	
���5
�� ����� ��

k =
1

2

√√
ε2
1 + (

4πσ1

ω
)2 − ε1 4!�($5


�� �
� 
��� �� 
����;� 
	�� �� �
�� ���� ��
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������ !�!, ���>����� ���������� �� ������	��� ����	��� 
�� ������	���	� ��
�����  ���� ���	� 
5 
�� �5 ���= 
 ��= ���>����� ���
���� �� 	�� �
��� ��
��
		����� �
	� γ = 1/2πτ � ���	� �5 
�� �5 
�� 
 ���
��	� �� ��������	
	��� ��
ε̂ 
�� σ̂� =�	� ������� �� ��
��� �� �% ���
����� �5 
�� �5 ���= 	�� ���>�����
���� � 
���� ��
� 
 ���>������ 9�(ε̂) ��
���� ���� 
�� 
����
���� $� 9������
:� :: 
�� ::: 
�� �������� 	� �� 	�;	�

!/



+�, ���-���	
 ��*
��

+�� @��	 4: �� ����4!�!55� ��= ���>����� ������� 
��� �������� 	� 
� 	�� 7
���2
9����� ���� � �� ��@��� �� ωτ � 1 E�?"!F,

σ1(ω) = σ0, 4!�(!5

σ2(ω) = σ0ωτ, 4!�((5

ε1(ω) = 1 − ω2
pτ

2 = 1 − 4πτ 2σ0, 4!�(/5

ε2(ω) =
ω2

pτ

ω
, 4!�(15

κ(ω) =

√
2πσ0

ω
� 1, 4!�(.5

+�� ��
� �
�	 �� ������	���	� 
�� ������	��� ����	��� 
�� �� ��
	�� �� 	��
�% ������	���	� σ0� +�� � 
���
�� �
�	 �� ������	���	� ���=� ����
��� =�	�
���>������ =���� 	�� � 
���
�� �
�	 �� ε̂ ���
�� =�	� ω−1� +�� ��
		����� �
	�
��	�� ���� 	�� ��
� �� : (σ̂0) 
�� ��
��� �� 	�� ������	��� ���
�����

%������
�� ��*
��

+�� ���
;
	��� ���� � ������ 	�� ����	�
� �
��� ��	�� ���� �� ��	� �����
� >�
�2
	�	��� ��
� 
 ���>����� 
�� ��
		����� �
	� 1/τ << ω << ωp� +�� ���
���� ��
σ̂ 
�� ε̂ �� ���=� 
� :: �� 	�� ��
��
 ����!�!� :� 	��� ���� � 	�� ������	���	�
σ1(ω) �����
��� =�	� ω−2� :	 �����=� E�?"!F,

σ1(ω) =
σ0

ω2τ 2
, 4!�('5

=���� σ2(ω) �����
��� =�	� ω−1�

σ2(ω) =
σ0

ωτ
, 4!�(85

k(ω) =
ωp

ω
. 4!�(#5

+�� ��
� �
�	 �� 	�� ������	��� ����	��� 
��� �����
��� =�	� ω−2� 	�� � 
���
��
�
�	 =�	� ω−3�

ε1(ω) = 1 − ω2
p

ω2
, 4!�/"5

ε2(ω) =
ω2

p

ω3τ
. 4!�/$5

!1



.���������� ��*
��

��� ��=�� ���>������� ����	�� 
���	�� �
��
	��� ����	�
	�� 	��  �	
� ���� 	� 

���	
�� ���	�� �
���� 	�� ���� ���	�� �	 	�� ��
� 
 ���>����� ωp 	�� ��B��	��2
�	� ����� 
�� 	��  
	���
� ���� �� 	�
���
���	 ��� ����	�� 
���	�� =
��� =�	�
ω >> ωp� 7��� 
�� 
����;� 
	� �;��������� ���������� ������	���	� 
�� ������2
	��� ��������� +�� ��
�
�	�� �� ������	���	� ���
���� �	
�� 	�� �
 � E�?"!F,

σ1(ω) =
σ0

ω2τ 2
, 4!�/!5

σ2(ω) =
σ0

ωτ
. 4!�/(5

+�� ��
� �
�	 �� 	�� ������	��� ����	
�	 ��
���� ���� 	� ����	��� 
	

ω =
√

ω2
p − (1/τ)2, 4!�//5


����
���� 
 ����	
�	 �
��� 1 ��� ���� ���>��������

ε1(ω) → 1, 4!�/15

ε2(ω) =
1

ωτ

ω2
p

ω2 + τ−2
. 4!�/.5

��� ���� ���>������� 4πσ1

ω
� 1 	�������� κ → 0� =����  �
�� 	�
	 	��  
	���
�

���� ��	 
����� ������ ��� 	�� �������	 �
��
	����

����� ���
���
��� ��
�����
 ������
���
� �� 
�� �����

�����

+� ���
	��� ��������	  �
���� ��	� ����
� ����� 
	��� 
���	 ��
��� 	�
��2
���	� +�������� ��
���� �� ������	���	� 
�� ������	��� ����	��� =�	� 	� ���
	���
�
�� 	� �� 
�����	�� ����
+�� ��
� 
 ���>����� ��@��� 
� ωp =

√
4πne2/m ���=� 
 	� ���
	��� ��2

�������� ��� 	� ���� �	��� �;�
����� E%�<+""F

ωp = ωp0
1√

1 + α(T − T0)
, 4!�/'5

=���� T0 �� 
 ��� 	� ���
	��� 	
��� ��� ��������� 
�� α 	�� �;�
�����
���K����	�
�� ����	���2����	��� 
�� ����	���2������ ��
		����� �
�� ���� ������	��� 	��

����  ���
��� ���	 ��� ����	���� 	� 
������ 	��� 
� �>�������� �� 	������ �����2
�����, 1

2
m 〈v2〉 = 3

2
kBT � 7�=����� 	�� ���
;
	��� 	� � =
� 
��� �� 	� �� ������	�

����������	 E��'.F�

!.



+� �;	��� 	�� �����  ����� 	�� ����	���  
�� m �� �>�
	��� 4!�!(5 =��� ��
����
��� �� 	�� �G��	���  
�� m∗� +�� �G��	���  
�� m∗ �� �G��	����� 
  
�� 
�
����	��� �
� =���  ������ 
� ����� �� 	�� 6�=	��I� �
=� ��  �	���� �� 	�� �
��
�	���	��� �� 
  
	���
�� :	 
�����	� ��� 	�� �G��	 �� ��	��
�	���� =�	� 
	� � ��
	�� �
		���� 	���,

σ0 =
e2τn

m∗ . 4!�/85

+�� ������	���	� ������� �� 	�� ���
;
	��� 	� �� ��� �����
���� 	� ���
	���
	�� ���
;
	��� 	� �� ����	���� =���� �����	� �� �����
���� ������	���	��
+� ���	��� �;	��� 	��  ���� 
�� 	� �������� 	�� 	� ���
	��� ����������

�� 	�� ����	�� 
���	�� ��������� �	 �� ������
�� 	� �;	��� 	�� �����  ���� ��
	�� ���������� ������	�� ��
		�����  ���
��� �� =���� ��
� 	� ��
	 �;��
��� ��

����	���2����	��� 
�� ����	���2������ ��
		������
<�	 �� ��	������ 
 ��������� ���>����� ωc� 6�= ��	 ωcp �� 
 ���	����	��� ��� 

	�� ����	���2������ ��
		����� 
�� ωce ��� ����	���2����	��� ��
		������
��������� 	� 7���	��� E7��1/F� E7��./F 
�� <
=����� E<
='.F� E%�<+""F �	

�����

ωcp(T ) = ω0[
2

5
+ 4(

T

Θ
)5

∫ T
Θ

0

z4dz

exp(z) − 1
], 4!�/#5

=���� Θ �� ����� 	� ���
	��� 
�� ω0 �� 
 ����	
�	 ��	�� ���� �� 
 �	
	��
�� �	 
��

ωce(T ) =
1

12
π3 ΓΔ

�EF

[(kBT )2 + (�ω/2π)2]. 4!�1"5

EF �� 	�� ��� � ������� kB 	�� ���	3 
�� ����	
�	� Γ 
 ����	
�	 
���
����
	�� ��
		����� ����
����	� ���� 	�� ��� � ����
��� 
�� Δ 	�� ��
�	���
� � ��
��
��
		������ 7�=����� 
 ��	
���� 
�
����� ��  �	
���� ���
���� �;����� 	�� ��
 �
�� 	��� =���� 
� 	�� ����� �� �� �� �������	��� ���� ����
:� �� �������	��� 	�� 	� ���
	��� ���������� �� 	�� ��
��� �
�����  �����	�

�� ����� �� E-D-�"!F,

μ(T ) = μ0T
−α, 4!�1$5

=���� α = 3/2 ��� ��
		����� �� 
����	��
� ������� 
�� α = 1/2 ��� ��
		�����
�� ��	��
� �������� μ0 ��  �����	� 
	 
 ��������� 	� ���
	���� ��� ��=�� 	� ���2

	���� 	�� ��
		����� �� ������� ������
���� 	�������� 	�� ��
��� �
�����  �����	�
�����
���� +�� ������	���	� ������� ����
���  �����	� σ = enμ� 	�������� 	��
������	���	� �� �
�� ������	��� �����
��� ��� �����
���� 	� ���
	����

����� �������		���� ����� �����

+�� 
���� �����
	��� �� 	�� �����  ���� �� �
��� �� 
� 
��� �	��� 	�
	 ����2
	���� ���
�� ���� ����	��
� ����� ������� E���""F� <�	 �� ��= �������� ����	���� 
�

!'



>�
���
�	������ �� ��B������ �� 	�� ��	��
�	��� =�	� 	�� ������ =���� �� 
�����	��
��� �� 	�� �G��	���  
��� +�� �G��	���  
�� m∗ �� ���
��� ��G����	 ��� 	��
 
�� �� 
 ���� ����	���� <�	 f(�p,�r) �� 
 ���2�>��������� ���	����	��� ����	����
=���� �� 	�� 
���
�� �����
	��� �� ��� ��� 	�� �	
	� �p 
	 ����	 �r � +�� ���	32
 
�� 	�
�����	 �>�
	��� 4!�1(5� =��� 
������ 	�  �	
��� ��������� 	�� �	
	��	��
�
���	����	��� �� ����	���� E?
�F,

∂f

∂t
+ �v

∂f

∂�r
− e( �E +

1

c
[�v × �H ])

∂f

∂�p
= −f − f0

τ
, 4!�1!5

=���� f �� 	�� ���	����	��� ����	��� 
�� f0 �� 	�� ���	����	��� ����	��� 
	
�>�������� 
�� τ �� 	�� ���
;
	��� 	� �� ��� �	
	���
�� @���� 	�� ���	3 
��
�>�
	��� 	
��� 
 ��� E?
�F,

−e �E
∂f

∂�p
= −f − f0

τ
= −f1

τ
. 4!�1(5

+�� ����	��� ���	����	��� �� �������� �� 	�� ��� �2���
� �	
	��	���,

f(E) =
1

exp (E−μ
kT

) + 1
, 4!�1/5

=���� E �� 	�� ������ �� 
 ������ �
�	���� �	
	�� μ �� 	�� ��� ��
� ��	��	�
��
kB �� 	�� ���	3 
�� ����	
�	 
�� T 	�� 	� ���
	��� �� D� � ����	 �
����
	���
���=� 	�
	 	�� �% ������	���	� ������� ��� 	�� ���	3 
�� �>�
	��� �
� 

��� ED�	#.F,

σ0 =
ne2τ

m∗ , 4!�115

=���� �� �� 	� 	��  
�� m �;
�	�� 	�� �
 � 
� 	�� ����� ��� ��
 �� 	��
��
����
� 
����;� 
	��� )>�4!�!(5� ��� 
 	� � ��������	 ����	��� @��� �E(�r, t) ∝
exp (−iωt) =� ��	
�� 	�� �;�������� ��� 	�� �% ������	���	� E?
�F,

σ(ω) = σ0
1

〈τ〉
〈

τ

1 − iωτ

〉
. 4!�1.5

+�� 	�� � 〈·〉 �� )>�4!�1.5 ����	� �;���	
	��� �
�����

����� ��
�� �����

<�	 �� ��= �������� 
  ���� �� ����	��� ���
���� ��	������� �� - �	� �� !""$
E- �"$F� 	�� ����� - �	�  ���� 4�-�5� =���� �� 
� �;	������ 	� 	�� ���������
��
����
� �����  ���� E���""F� :	 ��������� ������	���	� ��  
	���
�� =�	� ��
���
�
����� ���
��3
	��� ��� 	� ���� ������	� 
�� �������� �� 	�� �
��2��
�� E��D+".F�
���	��� �-� =��� �� 
������ 	� �;��
�� 	�� ����	��� ������	��� �� �)�*+,�--�


� �)�*+,�-- �� ���=� 	� �
�� ���
��3�� �	
	�� E6
�"'F�
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%������� 
� ����	��� ���	� =�	� 
 ���	 � ����� �� ����	��� @��� 
������ 
	
	� � t = 0� +�� ������	 j(t) ���
�� �;�����	�
��� 	� �>�������� =�	� 
 ���
;
	���
�
	� τ � 	��� 	���� ��

j(t)/j(0) = exp(− t

τ
), 4!�1'5

	�� �� ���; ������	���	� �� 	�� ������� 	�
����� �� 	�� ������	 �����	� j(t)�
	���

σ̂(ω) =

∫ ∞

0

j(t) exp(iωt)dt, 4!�185

=���� ��
�� 	� 	�� ����� ��� ��
 E��'.F,

σ̂(ω) =
σ0

1 − iωτ
4!�1#5

+�� ����� - �	�  ���� �� �
��� �� 
� 
��� �	��� 	�
	 
� ����	��� �
� 

 � ��� �� ������	� ��� �������� ���������� E- �"$F� +�� ������	�  � ��� �� 	��
�� �
���� ������	���� ������	� �� ��������� �� 	�� ������� ���	����	���� +�� �
 �

� �� 	�� ����� ��� ��
 τ �� 	�� 
���
�� 	� � ��	=��� �������	��� �����������
+���� 
� ����� �� 	�� ������� ���	����	���� �� 	�� 	� � ��	���
� [0, t] 
� ����	���
=��� �;�������� n ���������� =�	� 	�� ����
����	� E- �"$F,

pn(0, t) = (
t

τ
)n exp(− t

τ
)

n!
4!�."5

6�= 
��� � 	�
	 
�	�� �
�� nth ��������� 
 ��
�	��� cn �� ����	���I� ������	� ��
��	
����� +��� �� 	�� ��G������ 	� 	�� ������	���
� �����  ����� =���� 
 ��
���
�
����� ���� ��	 �
�� 
�� ������	� ���
	��  � ���� :� 	�� ��
����
� �����  ����
cn = 0 ��� 
�� n > 0� +�������� 	�� ������	 �����	� �� �-� �� ����� �� E- �"$F,

j(t)/j(0) = exp(− t

τ
)[1 +

∞∑
0

cn( t
τ
)n

n!
]. 4!�.$5

��
��� 	�� ������� 	�
����� 
	��� ����� 	�� �� ���; ������	���	� �� 	�� �-��
=���� 
�����	��� ��� 	�� ������	���� ������	� �� �>�
� 	� E- �"$F,

σ̂DSM(ω) = [
σ0

1 − iτω
][1 +

∞∑
n=1

cn

(1 − iτω)n
]. 4!�.!5

- �	� ������	�� E- �"$F ����������� ���� 	�� � n = 1 ��� 	�� �
�� �� ������
��
		������ :	  �
�� 	�
	 ���� 	�� ������	� ��� 	�� �
�	 ��������� ��B������ 	��
������	� 
�	�� ���������� ��� ��
�	�� ���������� 	�� ������	���� ������	� ���K����	
c1 = 〈cos θ〉 �� 	�� �;���	
	��� �
��� �� 	�� ������ �� 	�� ��
		����� 
���� θ� +����
	�� �
���� �� c1 
�� 
���=�� �� 	�� �
��� [−1, 1]� 6��
	��� �
���� �� ������	����
������	� �
�
 �	�� c1 = −1  �
�� 	�
	 	�� �
����� ��������� �
����
		�����

!#



�� ���
��3
	��� E��D+".F� ����!�( ���=� 	�� ���>����� ���������� �� �� ���;
������	���	� ��� ���
	��� 
�� ����	��� �
���� �� c1 �� �� �
����� =�	� 	�� �����
 ���� c1 = 0� ��� �	���� �
����
		����� �G��	�� =��� c1 = −1� 	�� ��
��� �
�����
���
���� �� 	�� ����� - �	� ����� �� �����@�
�	�� ��G����	 ��� 	�� ��
����
�
���
����� ��� �
���� �� c1 ����� 	� −1 	�� ��
� �
�	 �� ������	���	� �����
�� 

 
;� � 
	 E- �"$F

ωmax =

√
3c1+1
c1−1

τ
4!�.(5

:� 	�� �����  ���� Re(σ̂Drude) �
���  ���	������� 
�	�� ��
�����  
;� � 
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��� ����!���	�� 
��	 ��
$ �
��
�����
� %��!��&

+� �2�� 
�� 	��
���	3 ����	������� �� 
 ������ 
����
	�  �	��� ��� ������	���
����	��� 
�� ��	��
� ������	���	� ��	�� ��
	���� :� 	�
�� ������  �
���� ��	�
��	� 	�� 
 ���	��� �� 	�� ����	�� 
���	�� =
�� �E0 = | �E0| exp(iδ) 
�� 	�� ��
��

�� ��	��	��� =���� �������� 
 �� ���	� ����� 
	��� 
���	 	�� 	�
�� �		�� ����2
	��� @���� +��
���	3 ����	������� 4����	 +73 ����	�������5 ������ 	�� �
� ����
���
�
�	 �� 	�� ����	�� 
���	�� ����	�� � 
��  �
���� ��	� �� 	��� =��� =��� ���2
��� �� �� 	�� ����	�
� �
��� ��� 10 	� 30 +73� =���� ����������� ����� ��������
��� �
� 40  �0 	� 124  �0 
�� =���� �� 	��� ����������� 	� �;��	
	��� ��������
�� ��
��� �
������ �� 	�� ��
� �� 	�� ��� � -���
��� +���� +73  �
���� ��	��
�
� ������� ����� 
	��� 
���	 ��
��� 	�
�����	  ���
��� � ��  
	���
���
� ��	
���� �������	��� �� 	��  �
���� ��	 ��������� 
�� 	�� +73 �;���� ��	
�

��	�� �
� 
���
�� ���� ����� �� ED
 "1F� E-��"8F� E-��"1F 
�� E6Q	"'F� :� 	���
	����� =� =��� ���� 
 ����� �������=�
?����
	��� 
�� ��	��	��� �� +73 �
��
	��� �� �
��� �� �������
� ��	���� 6��2

����
� ���
��3
	��� ��  
		�� �� ������� �� �	���� �
��� �������

����� '�������� �

��	

��� 	�� �
;=���I� �>�
	���� �����=� 
 =
�� �>�
	��� ��� ����	��� @��� �E(�x, t)
����
�
	��� ��  
		�� E�?"!F,

∇×∇× �E +
1

c2

∂2

∂t2
�E = −4π

c2

∂2

∂t2
�P , 4(�$5

=���� �P �� 	�� ����	��� ���
��3
	��� ������� �� 	�� �������	 ����	��� @��� �E� :�
��� ����
�  ���
� 
� 
���
�� ���=� �� ���	��� !�$� 	�� ���������� �� 	�� ����	���
���
��3
	��� �P �� 	�� ����	��� @��� �E �� ����� �� 	�� �;�
�����

Pi =
∑

j

χ
(1)
ij Ej +

∑
j,k

χ
(2)
ijkEjEk + ... 4(�!5

+�� @��	 	�� ����� 	�� ����
� ���������� �� 	�� ������� ���
��3
	��� �� 	��
���� ��� ����	��� @��� 
�� ��
�� 	� 	�� ��
�
� ������	��� ����	���� +�� ������
����� 	�� 

∑
j,k χ

(2)
ijkEjEk� =���� �� 
 �������
� ���	����	���� ����� ���� 	� 	��

������I� �G��	� +�� 	���� �
�� ������	�����	� 	����� χ(2) �� ����� �� 4��� ED
 "1F
��� ���	��� ���������5,

χ(2)(ω, ω1, ω2) = χ(2)(ω1, ω2)δ(ω − ω1 − ω2) 4(�(5

��� ����	��� 4��� �������
	�5 ���>������� 
 ���>����� �� �������
� ���
��3
	���
ω �
� �� ω = ω1 + ω2� =���� �� 
 �� ���>����� �����
	���� �� 
 ��G������
ω = ω1 − ω2 ��� ��G������ ���>����� �����
	���� χ(2) �
������ ��  ���
 =�	�

/'



��������� ��  �	��� ��	 ��  ���
 ���� �
���� 
������� ?
�� �	 ��
�� 	� �	����
�������
� �G��	� 
� ��������� 
�����

6������
� �G��	� ��  
		�� ��
��� ������ ���������� 	� ����	��� @���� =�	�
��G����	 ���>�������� �� 
 �����	� �	���� ������� �� �������	 �
��
	��� �
� ��

������� ��� ���>������� =���� �� �
���� 
�� 
�
��
���� �� �;
 ��� �� ���� 
����2
�
	��� �� �����
	��� �� +73 �
��
	����

����� �() !�����
���

+73 �
��
	���� �� 10 	� 30 +73 ���>����� �
���� �� �����
	�� �=��� 	� ��G������
���>�����  �;��� �� ?
-� ����	
��

ω1 ω2Ω = ω1- ω2

χ(2)
THz visible

������ (�$$, ���>�����  �;��� �� ?
-� ����	
� ��� 	� ������ ����� �������
�
�G��	��

+�� �� �������� �
��� ���� �� 	�� �;���� ��	 �������� ������ ���	���� 
	
780 � =�	� 
 �
��=��	� 80 � � +��� �	 �� �������� 	� �����
	� �
��
	��� �� 	��
���>����� �
��� Ω = 0...40 +73� 7�=����� ��
��  
	����� �G��	�� =���� 
�� ��	
��������� ����� �� �	 	�� �����
	�� +73 ���>������� 	� 	�� �
��� ��� 10 	� 30
+73�

�� ���
� +73 =
�� ��� ��	
��
��� �� 	�� ��������� ������� �� ���=� �� 	��
����(�$! 
5� =�	� 
 ����	�� ���=� �� ����(�$! �5�

����� �() ��
��
���

��	��	��� �� +73 �
��
	��� �� 
������� =�	� 	�� ��� �� 	�� ������I� �G��	� ���=�

��� 
� 	�� ����	��2��	�� �G��	� � +73 �
��� ����� =�	� 
� ����	��� @��� �ETHz

����
�
	�� �������
��� =�	� 
 ����	 10 �� ������� �
��� ����� �Evis ������ 	�� ��	��	���
����	
� P�+�� -�� @���� (�$(� +�� �������� �� 	�� ����	��� @��� ������� �������
�
���
��3
	���� +��� �
���� ������������� �� 	�� ��	��	��� ����	
�� �� 
 �����>�����
	�� ������� �
 ����� ����� �Evis ���� �� �����	��
��� ���
��3��� +�� ��
��� ��
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������ (�$!, 
5 :��
� ?
����
� +73 ����� �� 	� � �� 
�� 4=
����� 5 �5 -���	�� 
�� 
� ���
� ?
����
� +73 ����� ��	
���� �� ������� +�
����� �� 	�� =
����� �

�����	���	� �� 	�� ������� ����� ����
�
	��� 	���	��� =�	� 	�� +73 ����� �� ��	��	��
�� 
� ����	��2��	��
� ��	���
+�� ����	�
� �
��� ���	
��� ���  �
���� ��	� �� ��	�� ���� �� 	�� �������	

�
��
	��� � �		�� ��� 	�� +73 �����
	��� ����	
�� 	�� ������� =
��� ��������� 
�
	�� ������� =
��� 
�	� 
� 
 @�	�� ��� 	�� 6:� 
�� 	�
�� �		� 	�� +73 �
��
	����

�� 	�� ��	��	��� ����	
�� +�� ����	�� �� 	��  �
����� ��������� ����
� Eref

��������� �� )>�4��!5 ��	�� ���� 	�� ���>����� �
��� ���� =���� 	�� �
 ���
����
� �
� ��  �
������ ������ (�$1 ���=� 	�� 
�����	� �
��� �� ��	�  �
�����
����
�� �� 	�� ���>����� �� 
��� +�� ��	��	 �� 	��  �
���� ��	 ��	�� �� ���=�

� ��� ��	� :	 ���=� 	�� >�
��	� �� ��	��	��� ��� �
�	����
� ���>�������� ������
(�$/ E?�".F ���=� 	�� 	�
�� ������ ����	�� �� -������ �� 	�� +73 �
���� �	
$8 +73 4≈ 17 μm5 
� 
�����	��� ���� �� -������ �
� �� ����	�@��� =���� �� 
���
������� �� 	�� ����	�� �� 	��  �
����� ��������� ����
� ����(�$1�

����� �() 	
��
����
��

+73 -���	�� �	�� 
���=� ��� 	�� �	�
��2�	
	� +73 �������� 
�� 	�� ���	
�	
�����
+73 ��������  �
���� ��	� �� 
  
	���
� �� ��	����	 ED
 "1F� :� 	��� =��� =�
�
�� ������� �� �	�
��2�	
	�  �
���� ��	��
+�� +73 -���	�� �	�� �� ���� 
	��
��� ���=� �� 	�� ���	��� (�$.�
+�� +73 ����� �
� 
 ���
	��� �� ≈ 100 �� 
�� �� 	���  ��� ������ 	�
	 	��

�
 ����� ������ -�
����� �� 	�� +73 ����� �� �������� ��� 	� ��
���� �� 	��

/#
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������ (�$., +73 -���	�� �	��� +�� ���� �� 	�� ���	� �� 
 +�,�
������ �� 2
	������� �
��� ����
	��� 
	 
 1 �73 ����	�	��� �
	� 
�� ��������� ��	�
 ����	
������ �� 	�� ��
� ����
��� 780 � �� 10 �� ���
	��� ED
 "1F�
+��� ��	�
 ����	� ��
� ����
��� ����� =��� �����	�� ��	� 
 �����
	��� ����	
� ?
-�
�����
	�� +73 �
��
	��� ��� 	� 	�� ��������� ��������� �� ���	��� (�(�!� +�� +73
��
 ����
�
	�� �������
��� =�	� 	�� ��
� ����
��� ��
 
� �	 �� ����� 
	�� �� 	��
�
�
�����  ����� ��$� � ���� �����	���	� -� =
���� 	�� �
 � 	��� 
� ���� �
	�� ���
����	�
	��� �� ��
��� �� 	�� ��
 	� ����� 	�� ��
� ����
��� ����	 
�� 	�
�� �	 	��
+73 �
�	 �� 	�� ��
 � +�� 	�
�� �		�� +73 �
��
	��� �� ������� �� 	�� �
 ���
�� 	�� ������ �
�
�����  ����� ��!� +�� ��;	 	=� �
�
�����  ����� ��( 
��
��/ ������� 
	� 	�� ��
 
�� ����� �	 ��	� 	�� ��	��	��� ����	
� P�+�� +��
�� ��� ��	�
 ����	 ������� �
 ����� ����� �� ��B��	�� �� 	�� ������ -� =
��� 
��
	��� ����
�
	�� �������
��� =�	� 	�� +73 ������ =���� �� 	�
�� �		�� 	������
	�� -� =
���� ��	� 	�� ��	��	��� ����	
�� +�� �����	���	� ��
��� �� 	�� �������
����� ������� �� 	�� +73 ����� �� ��	��	�� �� 
 ���	� �� 
 λ/2 ��
	� 
�� 

����
�	�� ���� � +�� ��
��� �� �����	���	� �� ��	� ����	�� 
���	�� =
��� S(t)

�	�� �
����� 	������ 
 ����
�	�� ���� ��  �
����� �� 	=� ���	�������� +��
 �
����� ���	
�� �� ������	���
� 	�� 	�� ��
��� �� �����	���	��

1!



������
 �

����
������� 
������

� +73 =
����� �� 	�
�� �		�� 	������ 
 �)�*+,�-- 	��� @� 4�
��� $5 
�� 

����	�
	� 4�
��� !5 
�� @�
��� ��	��	��� +��� ���	� �� ������� 	� 
� 
 	=� �
���
���	� � �������� 
  ���� ���������� 	�� ���
	������� ��	=��� 	�� �� ���; ��2
��
�	��� ����; 
�� 	��  �
����� +73 	�
�� ������ ����
�� �� �)�*+,�-- @� ��

� ��������� �� �������; �� ��
���� �;	�
�	��� 	�� �����=���  
	���
� �
�
 �2
	���,

• �� ���; ������	��� ����	��� ε̂

• �� ���; ��	��
� ������	���	� σ̂

• �� ���; ����
�	��� ����; n̂

���  �
���� ��	� =��� ������	�� �� 	�� �
��=��	� 10 − 30 +73� ����	 ��
���	���� /�$ 
�� /�! : ������	 	�� �� ���; ����
�	��� ����; 
�� 	�� �� ���;
������	��� ����	��� �� �)�*+,�-- 	���	��� =�	� 
 	������� 
�
����� �� 	��  �
2
���� ��	 ������� �����=�� �� 
  ��� ��	
���� 
�
����� �� 	�� ������	��� ���
����
�� �)�*+,�--� +�� ���	��� /�( ���	
��� 	�� 
�
����� 
�� ��	�����	
	��� �� 	��
�� ���; ������	���	� �� �)�*+,�--�

��� ���
��' ����	�
�(� ����' �� ���������

������ 4/�$5 ���=� 	�� ��	
���� �� ���; ����
�	��� ����; n̂ = n+iκ �� �)�*+,�--
��� 
 [2400± 400] � 	���� �
 ���� -	
��
�� ����
	��� ���	� 4± �	
��
�� ����
2
	���5 �� ��	� ��
� 
�� � 
���
�� �
�	� �� n̂ 
�� ������	��� n 
�� κ 
�� ��������
����	���� �� 	��  
	���
� ���������� ����
�
	��� 
�� ������
	��� �� ����	�� 
�2
��	�� @���� �� 	��  ���� � n ��������� 	�� ��
��� �� 	�� ����� �� ����	 �� 	��
 ���� n = c

v

�� κ �� 	�� �;	���	��� ���K����	� ��	� 	�� ��
� ����
�	��� ����; n


�� 	�� � 
���
�� ����
�	��� ����; 2 	�� �;	���	��� ���K����	 κ 2 �� ��	 ���= 
��
�����@�
�	 ���>����� ����������� <���
� 
����;� 
	��� �� 	�� ����
�	��� ����;
n̂ = n + iκ ���=� 
 ����������

1(
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������ /�$, -	
��
�� ����
	��� ���	 �� 	�� �� ���; ����
�	��� ����; ��
�)�*+,�--� �
 ��� 	�������� !/"" � �  �
���� ��	 ������	�� �� 
�� 
	 ��� 
	� ���
	���� +�� ������� ������
	���� 
�� �������� 
�	��
�	� �� 	�� ������� 	�
��2
��� 
	����

n = − [0.0106 ± 0.0001]

2π · 1012 Hz
· ω + [3.19 ± 0.35], 4/�$5

κ =
[0.0034 ± 0.0004]

2π · 1012 Hz
· ω + [0.30 ± 0.05]. 4/�!5

��� ���
��' ������
��� ����
��� �� ���������

��� 	����  
	���
� �
�
 �	��� ε̂� σ̂ 
�� n̂ 
�� ���
	�� 	� �
�� �	���� +��� ���
	���
��� ���2 
���	��  
	���
�� �� ��������� �� ��	
��� �� ��
�	�� !�$ 
�� ��  
��3��
�� 	
��� ��$� ��	� 	�� ��	��
� ������	���	� 
�� 	�� ������	��� ����	��� �
� ��
�
����
	�� ��� 	�� 
���
�� ���=� ����
�	��� ����;�
������ /�! ���=� �	
��
�� ����
	��� ���	� �� 	�� �� ���; ������	��� ����2

	��� �� �)�*+,�-- ������� ��� 	�� �
 � �
 ���� +�� ������	��� ����	���� ��	�
9�(ε̂) = ε1 
�� : (ε̂) = ε2� 	�� �
 � 
� 	�� ����
�	��� ����;� �� ��	 ���= 
��
�����@�
�	 ���>����� ����������� 6������
��	��� �� 	�� �	
��
�� ����
	��� ���	
�� 	�� �� ���; ����
�	��� ����; 
�� 	�� �� ���; ������	��� ����	��� 
�� ��������
������� 	�
����� 
	��� 
�	��
�	�� 7�=����� -������	 �	 
�� �� �
��� E-�H+"/F
�
�� 
� �;��
�
	���� 	�
	 	��� �G��	 �� ��� 	� �����
�	 ����
	����� +��� ��>�����

1/
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������ /�!, -	
��
�� ����
	��� ���	 �� 	�� �� ���; ������	��� ����	��� ��
�)�*+,�-- ��� 
 @� 	�������� dave = 2400 � �� 
�� 
	 ��� 	� ���
	����
6�
��� ����	
�	 �
��� �� ��	� ��
� 
�� � 
���
�� �
�	 �� ε̂ �� 	�� =���� ���2
>����� �
��� ���=� 	�� �
 � ��
��� �
����� �������� 	� 
�� �;��	
	��� ���>�������
�� 	�� 
������ ����	��� @��� 
�� 	�� �
 � �����
	�� 
 �
�� �� �����@�
�	 �����
�	
����
	�����

���	��� �����	��
	����
<���
� 
����;� 
	��� �� 	�� ������	��� ����	��� �����

ε1 = − [0.065 ± 0.005]

2π · 1012 Hz
· ω + [10.2 ± 2.1], 4/�(5

ε2 =
[0.0137 ± 0.0114]

2π · 1012 Hz
· ω + [1.92 ± 0.18]. 4/�/5

+�� � 
���
�� �
�	 �� ε̂ �� ����	��� 
�� � 
�� 4≈ 1.3 − 3.35� =�
	 �����
	��
=�
� 
�����	��� �� +73 �
��
	���� ���  
	���
�� ���=��� �	���� 
�����	��� ��
	�� +73 �
���� ���� ��
���	� �� 
 �����������	�� �-%%*� 	�� � 
���
�� �
�	 ��
	�� ������	��� ����	��� ε2 �
� �� 
� ��� 
� 50 − 350 �� 	�� �
 � ����	�
� �
���
4��� 
������; ��1 ��� ��	
���5�

����� %���� �����	�	

:� 	�� @���� /�( �� ����	�@�� 	�� ��B����� �� 	�� 	����  
�� ������� �� ������ ��
 
	���
� �
�
 �	�� ��	� 
	��� ��� +73  �
���� ��	�� +�� ������� �� ������
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������ /�(, :�B����� �� 	����  
��  �
���� ��	 �����	
��	� ������� �� ������	���
����	��� �� �)�*+,�--

5 �����
�� �� �)�*+,�-- @� 	�������� ��	�� ��
	���� ������	��� ����	��� �
�2
���
	�� ��� 
���
�� 	�������� d = 2400 nm�  
;� � 	�������� d = 2800 nm

��  ��� � 	�������� d = 2000 nm 
	 ��� �
 ��� ����	 
�� 	�� �
 � ���������
����	
�5 -������ ����	�
	� �� ������	�� ������	��� ����	��� �
����
	�� ��� ����
�� ��� 
�
����� ���	� �� 	�� ������� =
���� 
	 	�� �
 � �
 ��� 
�� 
���
�� 	��������
�5 �)�*+,�-- @� �� ������	�� ������	��� ����	��� �
����
	�� ��� ����
�� ��� 
�
����� ���	� �� 	�� �
 ���� 
	 	�� �
 � ��������� ����	 
�� 
���
�� 	���������
�5 -
 ���  ��	
��� �)�*+,�-- 
�� 	����  �
���� ��	 ����	� 4���	5� -������

�� 	���� ��������� ����	� 4����	5�

1.




�� ��� 	�� �����	
��	� �� 	�������� ��	�� ��
	���� �
 ��� ���� ������	�� =����
 �
��� 	�
	 +73 	�
�� ������ �� ��G����	 ����	� �� 
 �
 ��� �
���� 4����	 ��2
��������5� 
�� 	� 	�� �
�� �� ����	�
	� �� ������	�� =���� �����	� �� �
��
	��� ��
��������� ����
� 
�� 	��� ���������� �� 	�� ������ �� ����	� �� ������� ����	�
	�
��� ���������  �
���� ��	� 4��������� ����������5� %��	����	��� �� 	���� 	����
������� �� ������ �� ��  
��3�� �� 	�� @���� ����=�
������ /�( 
5 ���=� 
 ��
��� �� 	�� �
����
	�� ������	��� ����	��� ���  �
�����

 
;� 
� 
��  ��� 
� �
���� �� �)�*+,�-- @� 	��������� ������ /�( �5 ���=�
	�� �
����
	�� ε̂ �
��� ��� 	���� ��G������ ����	� �� 	�� -������ ����	�
	� 	
��� ���
���������  �
���� ��	�� +�� ��;	 @���� /�( �5 �����	�
	�� 	�� ��B����� �� �
 ���
>�
��	� �� 	�� �
����
	�� ε̂� +73 	�
�� ������ ����	�
 =��� �������� ��� 	����
��G����	 ����	� �� 	�� �
 ��� ����
��� :� 	�� ��;	 �	��� 	�� ������	��� ����	���
��� �
�� ����	 =
� ��
��
	�� 
	 
 @;�� �
 ��� 	�������� 
�� 	�� �
 � ���������
����	� +��  
&�� ���	����	��� 	�� 	�� 	�	
�  �
���� ��	 �����	
��	� �
� 	��

����
�� �� @� 	��������  �
���� ��	�

����� *�	��
	 ���
���	�� ��� �����	�	

+� ��������� ��� �����	� =� �
��  �
����� +73 	�
�� ������ ����	�
 �� 	=�
�)�*+,�-- @� � ����
��� ��� ����	���� =�	� ��G����	 ���� �� ������	�
	����
�� =
	�� 
�� 
��� ��G����	 @� 	����������, $'"" � 
�� !/"" � � 6�;	� =�
��	�� ���� 
�� �� �
���  
	���
� �
�
 �	���� 0
����� ����	� �� �
�� �
 ���
=���  �
������ 	�� �����	� 
���
����
�� 
�� 	����  
	���
� �
�
 �	��� 
�� ���
	�� 4��� 
������; �5� 	�������� �	

�� ��K����	 	� �� �
�� ���� 	�� ������	��� ����	���� �� ��	� �
 ����� +�� �
�2
���
	�� ������	��� ����	���� 
�� ���=� �� ��� 
�� ���� �� ����/�/� ����	���
���
=� �
�� �� �
��� ��� �����	� =�	� 	�� ������	��� ����	��� ������	�� �� -���2
���	 E-�H+"/F� ���=� �� ��
�� �� ����/�/� 7�  ������ 	�� ����
��� ������	��� ����2
	��� �� �)�*+,�-- ��� ������� �	��  �
���� ��	�� 7�=����� 	�� �)�*+,�--
����	��� =
� ��� �
��� �?� )< ��
��� =���� �� ��G����	 ��� 	�� ��� ���� ��
	��� =���� -������	 
��� =����� =�	� ����� ������� ����	�
	��� ������ ���� �� ��
������� =
���� ���� ��� +73  �
���� ��	��
%� �
����� �� -������	I� �����	� E-�H+"/F �� 	�� ����	�
� �
��� 330−1000 cm−1

=�	� +73 �����	� �� 	�� ������������� �
��� 10 − 30 +73 �� ���=� �� 	�� @����
/�/� ��	� �
�	� �� 	�� ������	��� ����	��� 9�(εTHz) = ε

′
THz 
�� : (εTHz) = ε

′′
THz

��	
���� �� +73 -���	�������  �
���� ��	� 4��� 
�� ���� �����5 
���� =��� =�	�
=�	� �����	� ε

′
Elli 
�� ε

′′
Elli ��	
���� �� ������� �	�� 4��
�� �����5 E-�H

+"/F� +��
�
���� 
�� �� 	�� �
 � ����� ��  
���	���� +�� ��
� ������	��� ����	��� ε

′
Elli ��2

���
��� �	������ 	�=
��� ������ ���>������� 
� ε
′
THz ����� +��� ���
����  
� ��

��� 	� 
��	��� �� ����	��� �� 	�� �)�*+,�-- ����	��� ���� ���  �
���� ��	��
��	� ε

′
Elli 
�� ε

′′
Elli ���= �����
�	 ����
	���� �� 	�� ����	�
� �
��� 330−1000 cm−1�

+���� �	���� ����
	���� =��� ��	 ��	��	�� �� +73  �
���� ��	�� +�� ����	�
�
������	��� =
� Δω = 0.1 +73�

1'



500 750 1000
Frequency [cm-1]

Frequency [THz]

real part

imaginary part

R
e{

ε}
Im

{ε
}

15

10

5

0

10

5

0

a)

b)

10 20 30

1700 nm
2400 nm

Ref. Schubert

1700 nm
2400 nm

Ref. Schubert

Room temperature

������ /�/, %� �
����� �� ������	��� ����	���� ��	
���� �� ������� �	�� ε̂Elli

E-�H+"/F 4��
��5 =�	� +73 �����	� 4���� ����5 ε̂THz� +�� �
���� �� 	�� ������2
	��� ����	���� ��	� ��
� 
�� � 
���
�� �
�	� ��	�� ���� �� ��	�  �	���� �
�� ��
	�� �
 � ����� ��  
���	���� 9����
�	 ����
	���� =��� �
����
	�� ��� ε̂Elli� 6�
�����@�
�	 �����
���� =��� �������� =�	� +�2+-�
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�����=��� -������	 E-�H+"/F 	�� ����
��� ������	��� ����	��� ε̂ �
� ���	����2
	���� ��� 	�� ���� ���>����� ����	����� ���
��3
����	� ε̂α� :9 
�	��� ���� ����2
�
��� ����
	���� ˆεvib 
�� ���� ��
��� �
����� ��
� 
  ���� ε̂fc,

ε̂ = ε̂α + ε̂vib + ε̂fc. 4/�15

��� �

��	� ������
�(�
� �� ���������

:� 	��� ���	��� =� =��� 
�
��3� 	�� �� ���; ������	���	� �� �)�*+,�--� �� �
��
������	�� 	� ���
	��� ��������	  �
���� ��	� �� 
 �)�*+,�-- 	��� @� 	�
�
�� ����� 
	��� 
���	 	�� 	��� �� ��
��� 	�
�����  ���
��� �� 	�� ���� ��� ��
=����� ���=� �
�� ������	��� �����
��� =�	� �����
���� 	� ���
	��� �� �� �2
������	���� =���� ��
��� 	�
����� �
���� �� �
����� ������� �����
��� ��� ���=���
	� ���
	����

��� �����	� ������� 	�� �
 ��� =�	� 2.4 μm �)�*+,�-- �
��� 	��������� +��
	� ���
	���2��������	  �
���� ��	� =��� ������	�� �� 	�� 	� ���
	��� �
���
��� / 	� (!" D �� !1 D �	��� ��� 	���� ��G����	 ���	� �� 	�� �
 ��� ����
���
��� ��
� ���������� ��	��
� ����	
�	� �� 	��� =��� 
�� ������� �� 	�� �
����
�
���	 ���	� � 7�=����� �
���� �� ������	���	� 
�� ������	�� �� 	�� 	����
� ��� σ
���	� ��� ��� ��� ���	� �	�� �� 	�� -: ���	� � +�� ���������� �
�	�� ��� 	��
�
����
� 	� 	�� -: ���	� 
� ����� �� EH
�##F �� (9 · 1011)−1 S

cm
→ 1

s
�

����� ���
���
��� ��
������� �� ������
���
�

-������������ ��� 
�� 	� ���
	���� 	�� ���>����� ���������� �� σ̂(T ) �� 	�� �
 �

�� ���� =�
�� ���� 	�� ��
� ������	���	� ε1 ���=� �� ��
��� 
	 
�� 
�� σ2 ���=�
���� �����	 ��
���� ����� 
 	� ���
	��� �
��
	���� +���� ��
���� ��� =�	���
�����	�I ����������� +� �����	�
	� 	���� ����/�. ���=� ���	� �� 	�� ������	��� ����	���
��� 	���� ������ 	� ���
	����� �� 	�� ����� �� σ̂(T ) ��� 	���� 	����  �
���� ��	�

�� ������ 	� ���
	���� �� ��G����	 �� �
�� �
�� 
�� 
�=
�� =�	���� 	�� �����	�
��
		������ =� �
�� ��	 �������� ������	���	� �
��
	��� =�	� 	� ���
	����

����� ������
���
� �����	

+� ������	
�� ����	��� ������	��� �� �)�*+,�-- =� �
�� �� �
��� 	�� �����	�
��	
���� ��� +�2+- =�	� ����  ����� ���������� ������	���	�� ����� 	�� ��2
B����� �� 
 �	
	�� ����	��� @��� 	�� ��
��� 	�
����� �� �)�*+,�-- �� �� ��
	��
�� 	��� 
��� 
�	��
	�� ������� E6
�"'F� E�7*"1F� :� 	�� �����=��� =� �
�� 
�2

��3�� 	�� ���>����� ���������� �� �% ������	���	� ����� �� 	=�  ����� ��
�������  ���
��� �, 0
��
��� �
��� ������� 
�� >�
�	�  ���
���
� 	�����2
���� ���	���� �� ���	���� /�(�! 
�� /�(�!� =� �
�� ���������� ������	���	�  �����

1#
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�� ���	� � =�	� ���� ��
��� �
������� �� �)�*+,�-- �� 
 ������	��� ���� ���
=� �;���	 
 �
�	�
��� @���� ������	��� �
�� 
	 ��� 	� ���
	����

0��
�&�� ���*� ����
�*

�� �����	�� �� ��	��
	��� E6
�"'F� E�7*"1F 	�� �% ������	���	� �� �)�*+,�--
���=� 
 �	���� 	� ���
	��� ���������� 
�� @	� ������	�� =�	��� 	�� �
��
���
�
��� �������  ���� 40975� =���� ��������� ������	��� �� ���������� ���	� �
4��� ���	��� !�/5� 7��� =� =��� �������� 	�� ��
� �
�	 �� ������	���	�  �
����� ���
�
����� 	� ���
	����� +�� ���
��3
	��� ������	���	�� �
� �� �;������� �� 	�� �
�� 	�� �% 
�� �% ������	���	� E�?�P8#F

σ
′
(ω) = A(T )ωs(T ), 4/�.5

�� 	�� 097 ���� �	I� ���>����� 
�� 	� ���
	��� ���������� �� �� E�?�P8#F,

σAC(ω) = σ
′
(ω) + σDC(0). 4/�'5

:� 
 +73 �;���� ��	 =�  �
���� σ̂AC(ω)� �� ����� �� 	�� �)�*+,�--
 
���
�	���� -	
�� E-	
"#F 	�� �% ������	���	� �� �)�*+,�-- ��/"8( ���� ��
	��� =��� �� �>�
� 	� σDC = 1.5  -J� � =���� �� ���������� �� �� �
����� =�	�
σAC(ω) > 10 -J� � +���� =� �
� 
��� �

."
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���� ��	
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σ
′
(ω) ≈ σAC(ω). 4/�85

+� ��	
�� 	�� �
�
 �	��� A(T ) 
�� s(T )� =� �
�� @		�� σ
′
(ω) ����� ��

)>�4/�.5 	� 	��  �
����� ��	��
� ������	���	� �� �)�*+,�-- �� 	�� 	� ���2

	��� �
��� / D 	� (!" D� ������ 4/�'5 ���=� 	�� @		�� �����	��
+�� �
����
	�� @	� =���� �� 	��� �
�� �� ������� 
 �	�
���	 ����� �����=� 	��

�����
� 	���� �� ���>����� ���������� �� ������	���	�� ��� 	�� @	 =� ��	
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�
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������ /�8, �
�
 �	��� A(T ) 
�� s(T ) @		�� 	� 	�� �
��
��� �
��� �������  ����
��� 	����  �
���� ��	 ����	�� �� �;���	��� 	���� �� �� ���������� �� A 
�� s
�� 	� ���
	����

����	 ¯A(T ) Δ(A(T )) ¯s(T ) Δ(T )
1 0.0014 0.0010 0.30 0.02
2 0.0011 0.0009 0.32 0.02
3 0.0005 0.0002 0.33 0.02

+
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�
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σ
′
(ω) = A(T )ωs, 4/�#5


  ��� ��	
���� ��� E�?�P8#F �
� �� ������ =�	� 
 �
�
 �	�� s ����������	
�� 	� ���
	����

σ
′
(ω) = A(T )ω[ln(

1

ωτ0
)]4. 4/�$"5
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�� +�� �����	� 
�� ���� �� ��
� 	� 	���� ��	
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��� �����2
���� ��	=��� ���
��3�� �	
	�� 
�� �� 	��� �
�� ��	=��� ��G����	  ��������� 	���
�������� ��	��2�
�� 	�
���	����� :�	���
�� 	�
���	���� �� �)�*+,�-- 
�� ��	
��	��	�� �� +73 ����	������� �� 	��� �
���

:� �%  �
���� ��	� ������ �� �������� ��� 	�� ����	��� 	� ������ � ��	��	�
�
�
������ ��	=��� ���
��3�� �	
	�� 
��  ��� ������ ��	=��� ���	
�	�� ���� 
 ���2
	
�� ��
� ���	
�� �� 
������� ����	���� 
�� ������ ��	=��� ���	
�	�� :	 �� ���� 
	2
��
��� ���=� �� ����/�$"� �� ����	��� �;��	�� =�	� +73 �
��
	��� �� I	�
����I
��	=��� �;��	��� ��	��	�
� �
������ 2 �-- ��	�� 4�
�� ��
�5� :	 ������
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���
=�	� 
 ���>����� ������������� 	� 	�� ���>����� �� ������
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+�� �����  ���� ��������� 	�� ������	��� �������� �� ���� ��
��� �
������ σ̂fc

E���""F� +���� ���	����	��� 	� 	�� ������	���	� �� �)�*+,�-- σ̂ ������ 	��� @	
	� 	�� �����  ����� 6�=� �� �
�� 	�� ���>����� ���������� �� 	�� ������	���	�
����� �� ����� σ̂Drude 4����/�$$5 =�	� 	��  �
����� ���>����� ���������� �� 	��
������	���	� �� �)�*+,�-- σ̂THz�
+�� �����
� �
�
 �	�� ���������� 	�� ���>����� ���
���� �� σ̂Drude �� 	�� ��
	2

	����� �
	� γ = 1/τ � �	 	�� ��
		����� �
	� γ 	�� � 
���
�� �
�	 �� 	�� ������2
	���	� : (σDrude) ��
���� 	��  
;� � �� 	�� �����  ����� +�� ��
� �
�	 �� 	��
������	���	� 9�(σDrude) �
� 	��  
;� � 
	 ω = 0 
�� �����
��� ��� �����
����
���>������ +�� �;���� ��	
� ������	���	� ���=� �;
�	�� 	�� ������	� ���
�����
+�� ��
� ������	���	� 9�(σTHz) �����
��� =�	� ���=��� ω� +�� � 
���
�� �
�	
�� 	�� ������	���	� : (σTHz) �
� 
  
;� � 
	 ω = 0 
�� ��	 
	 	�� ��
		��2
��� ���>����� γ� :	 � ����� 	�
	 	�� ������	���	� �� �)�*+,�-- ���� ��	 ���=
	�� ��
����
� ����� ��������� � ��
����
� �� �
����� ��	=��� 	�� �������� ��
�)�*+,�-- 
5 
�� ������	���� �� 	�� �����  ���� �5 �� ���=� �� ����/�$$�

����� ��
�� ����� 2���3

+�� ����� - �	�  ���� ��������� ��	�
�
�� ���	����	���� �� 	�� ����
��� �
���
E- �"$F� :	 
�����	� ��� ������	� ���	����	���� ��� 	�� �������� ����������� =����

�� ����� �� ������	���� ������	� ���K����	� cn� :	 �� ��
������ 	� �������� 

������2��
		����� �
��� �� =���� ���� 	�� ������	� ��� ������ 	�� �
�	 ���������
�
� 
 �����@�
�	 ���	����	���� �� 	�
	 c1 �= 0 
�� cn = 0 ��� n > 1� +��� 
���=�
���������� �
����
		����� ��������� �� ���
��3�� �	
	�� E- �"$F�
�)�*+,�-- ������	� �� ���2�� ������
� ��
��� �� �-- =�	� 
		
���� �)�*+

��� ��	� ����/�$! 
5 ED9"1F ��� ��� 	��� �)�*+,�-- ��� �
�	����� ����������
�� �-- E6
�"'F ����/�$! �5� +�������� ���
��3�� �	
	�� 
�� ������	� +�� �����
- �	�  ���� =
� 
������ 	� �;��
�� 	�� ���
���� �� 	�� �� ���; ������	���	� ��
�)�*+,�--�

+�� �
����
	�� �� ���; ������	���	� �� �)�*+,�-- @	� ������	�� =��� 	� 	��
������	���	� ����� �� 	�� �-�  ���� =�	� c1 = −1 
�� σ0 = ω2

pτ/4π E- �"$F,

σ̂DSM(ω) = [
σ0

1 − iτω
][1 +

−1

1 − iτω
]. 4/�$$5

+�� @		�� �����	� 
�� ������	�� �� 	�� ��
���� /�$( 
�� 	�� @	 �
�
 �	��� 
��
����� �� 	�� 	
��� /�!, 	�� ��
� 
 ���>����� ωp 
�� 	�� ���
;
	��� 	� � τ � ��� 
������	���� �� 	�� �-�, 	�� ���
;
	��� 	� � τ 
�� 	�� �>�
	��� 4!�.(5� =� �
��
�
����
	�� 	�� ���>����� ωmax/2π = (51 ± 4) THz� ��� =���� 	�� ������	���	�
Re(σ̂) ��
���� 	��  
;� � �
����

+�� ��
� 
 ���>����� ωp 
�� 	�� ���
;
	��� 	� � τ 
���= ��� �
����
	��� 	��
�
	�� �� 	�� ��
��� �
����� ������	�
	��� 	� 	�� �G��	���  
�� n/m∗,

..



10 12 14 16 18 20 22 24 26 28 30
−160

−140

−120

−100

−80

−60

−40

−20

Frequency [THz]

Frequency [THz]

Re(σ) ± std
fit to Re(σDrude)

10 12 14 16 18 20 22 24 26 28 30
5

10
15
20
25
30

35
40
45
50
55 Room temperature

R
e(

σ)
 [S

/c
m

]
Im

(σ
) [

S/
cm

]
PEDOT:PSS film thickness 2400 nm

Im(σ) ± std
fit to Im(σDrude)

b)

a)

������ /�$$, %� �
����� �� 	�� �;���� ��	
��� ��	�� ���� �� ���; ������	���	�
σTHz =�	� 	�� ������	���� ��� 	�� �����  ���� σDrude� �)�*+,�-- ���� ��	
���= 	�� ��
����
� ����� ���������

.'



PEDOT:PSS
PEDOT oligomer
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PSS water solution
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������ /�$!, -	���	��� �� �)�*+,�--� ��� 
	��� �� ���
��3�� �	
	��� 
5 �--2
��
�� =�	� �)�*+ ����� ���� ������
�� �	���	��� �5 �)�*+,�-- ��
��� ��� 2
��� ��� �
�	����� �� �-- =
	�� ����������� 	��	�
�� �	���	����

6�� �
	
 τ E��F ωp E+73F
$ 9�(σ̂) 3.1 ± 0.2 103 ± 16
! : (σ̂) 1.4 ± 0.2 363 ± 15
( 9�(σ̂)� : (σ̂) 2.3 ± 0.90 233 ± 130

+
��� /�!, �
�
 �	��� @		�� 	� 	�� ����� - �	�  ����, τ 
�� ωp� +���� �
	
 ��	
=��� @		�� , ���
�
	��� 	�� ��
� 9�(σ̂) 
�� �� ���; : (σ̂) ������	���	�� 	���	���
9�(σ̂) 
�� : (σ̂)�

.8
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n/m∗ = (365 ± 75) · 1046 cm−3kg−1, 4/�$!5

+�� �G��	���  
�� �� 
� ����	��� �� 
 �)�*+,�-- ����
	�� ��
�� �� m∗/m0 =
0.099 
�������� 	� D� EDH"8F� =���� m0 = 9.1093897 · 10−31 �� �� 	�� ����	���
 
�� 
	 ���	� +�� �>�
	��� 4/�$!5 
�� 	�� �G��	���  
�� m∗ 
���= ��� ��	� 
	���
	�� ����	��� ������	�
	��� �� �)�*+,�-- ����
	�� ��
���,

n = (3.3 ± 0.7) · 1017 cm−3. 4/�$(5

���  �	
��� ���� ������� ���� �� ������� 	�� ����	��� ������	�
	��� �� �� 	�� �����
�� n ≈ 5 · 1022 cm−3 E��'.F� =���� �� 
����;� 
	��� $""�""" 	� �� ������� =����
�����	�� �� ������� �� 
 �����@�
�	�� ������ ������	���� +�� ����� ���
;
	���
	� �� ��  �	
�� 
�� �� 	�� ����� �� �� 	� ������� ���� ��� ���� τFe = 2.4 fs 
	
273 K E��'.F�
+�� �% ������	���	� σ0 ��	� 
	�� ��� 	�� ����� - �	�  ���� �� �>�
� 	�

σ0 = (2.9 ± 0.6) S/cm. 4/�$/5

�� �	
	�� �� 	��  
���
�	���� %� 7� -	
��� E-	
"#F 	�� ����	��� �� �)�*+,�--
��/"8( �
� 
 �% ������	���	� ≈ 0.001 Scm−1� :	 �
� ���� �����	�� E6
�"'F�
ED9"1F� 	�
	 	�� ����
�
	��� ������� �
� 
 �����
� � �
�	 �� 	�� �% ������	��2
�	� �� �)�*+,�--� �� ��� �
 ��� ����
�
	��� 4��� ���	��� (�$5 	�� �)�*+,�--
����	��� �������� 
 ���� ��
	 	��
	 ��	 �����	��� �� 
 �����	� ��
��� �� 	�� ��2
��	���� �	 �� �������� 	�
	 	�� �
�
 �	��� �� 	�� ����	��� ��
���� �����@�
�	���
+��  
���
�	���� E-	
"#F �
� ��
� �� 	� �
�� �������� 
 �)�*+,�-- ����	���
=�	� 
 ������	���	� 
� ���� 
� ≈ 500 S/cm� ������	��� ��� 	�� =��� ����	�� 
�� �)�*+,�-- ������	���	� �
���� �
����� ��� ≈ 10−5 	� 500 S/cm� 	�� �
���
σ0 = (2.9 ± 0.6) Scm−1 ��	
���� ��� 	��  ���� ������	���� �� =�	��� 	�� �
���
�� 	�� �����	�� �% ������	���	� �
�����
�-� ������	� 	�
	 ������	���	� ��
���� 	��  
;� � �
��� 
	 	�� ���>�����

ωmax = 50.8 ± 2.6 +73� :	 �����=� ��� 	�� �>�
	��� 4!�.(5� 	�� @		�� ���
;
	���
	� � τ 
�� 	�� ������	���� ������	� ���K����	 c1 = −1�
��
���� ��	� �� �)�*+,�-- ������	���	� �� 
 ������ ����	�
� �
��� /" 	�

." +73 =��� ����
� �� 	���� �� 
 ������	���	�  
;� � �� 	�� �����
	�� �
���

�� �������	����� �� 	�� ����� - �	�  ���� �������� 
� 
����
	� �������	��� ��
��
��� ���
���� �� �)�*+,�--�
+�� �
��� c1 = −1 �� 	�� ������	���� ������	� ���K����	 �����
	�� �	������ ��

	�� ��
��� �
����� ���
��3
	��� �� �)�*+,�--� %�
��� �
������ ������� �
����
	2
	������
�� 
���
�� ���= 	�
	 �)�*+,�-- �� 
 ����������  
	���
�� �)�*+,�--

��
���� ���=� ���� 
	��
��� �� ����/�$! 
5� ��� ��
��� �� 	�� ����� �� ≈ !" 2
(" � � =���� 
�� ���������� �� 	�� =
	�� ����	��� �� �--� -�� ���	��� (�! ���
��	
���� +�� ��
���� /�$!�5 �����	�
	�� �)�*+,�-- ��
��� ��� ��� ��
��� �� ���
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�	����� �� �-- ����������� ��	=��� ���� ��
��� ��
��� 	�
�����	 �� �� ��
	��
�� ��	����
�� �
��
��� �
��� ������� E6
�"'F�
-
 ��� ���� ��
	��� =�	� 
 �
��� ����� =�	� 
� ����	��� @��� ������
	��� =�	�

	�� ���>����� ≈ 1012 73� �
���� ���
� �;��	
	��� �� ����	���� =�	��� ���� ��
��
���� ��� 	� 	�� ���� ���>����� �� 	�� ����	��� @���� 	�� ����	���� ������
	�
�;	�� ��� �
�	� 	��� 	��� 
�� �����  ���� �� 	�� �E @��� �� 
 �
 � �	�� ��
��
����� +���� +�2+- ������ ���
� ������	���	�� %�
��� 	�
����� ��	=��� ���� ��
��
��� ��>����� ���� 
�	��
	��� ��������� =���� 
�� ��	 �������� ������ 
 ����	
�
��� +73 �;��	
	���� );��	
	���� =�	� +73 ������ 
�� =�	���� ������ ���� ��
��
���� 7�=����� 	��  �
����� +73 ����
� �� 
 �� �� ���	����	���� �� �
�����
�;��	
	���� ��� 
 �
���� ������� 
� 	�� ��3� �� 	�� �
��� ���	 �� ����� �� �
� 100 μm�
%�
��� 	�
�����	 =�	��� 
 ������ ���� �� ��
�� �
� �� ���������� 
� ���

�� ������
�� 	��� �����	� =�	��� 	�� ���� �� ��
�� �
��� ����	��� �
����
		������
��	���
	������ 	�  ��� ���	��� 
���� 	�� ���� �� ��
�� 
� ����	��� �
� ��� 	�
	�� ��
���	 �	
	�� -�� ����/�$/ �5� 7������ ������	��� =�	��� 
 ���� �� ��
��
��>����� 
�
�� 
� 
�	��
	��� ������� +��  ���� �� ����	���� �
����
		����� ��
�����	� =�	��� ���� �� ��
��� 
����� ������	�� =��� =�	� ������	���� �� 	�� �����
- �	�  �����
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3 ������ ��� 	�� �-- ��
��� ��� 
	��� �� ����	����� ��
����
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�5 �5 : 2 ������� ��	=��� ��
���� :: 2 �������
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��� �
�� ��
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!����
� ��� �����������

��� 	� 	���� ���>�� ��
	����� ���� B�;�����	� 
�� �
�� ����������� ���
��� ����2
 ��� 
�� 
 ������ ��	����	��� 
�	���
	��� 	� ��
����
� �� �������	���� +�� ����2
 �� �)�*+,�-- �� ������	�� �� ��
	��� 	��  
���	 �� ������	��� ���� ����
��	����� ��	�� 	��
� �	 �
� ���� �
�	�� 
������ �� �
����� 
��
� �� ���
��� ����2
	������ 
�� 
� ��
	���� ���� �� 	�
��	���
� �����
��� ����	������� ��	 �	��� 	��
��
��� 	�
�����  ���
��� �
� ��	 ���� ����� ������	��� ��	�

+�2+- �� �����	��� 	� ����	���� =�	� �;��	
	��� �������� �� 	��  �0 �
����
	���� 
� �	 �
� ���� ���=� E�<�D+"8F� �	 �������� 
 ��	
���� ����� 
	��� �� 	��
�
	��� �� 	�� ��
��� 	�
�����	 
��� �� ���� ���� :� 	��� =��� : �
�� ������	��
	�� @��	 ���������� �����	� ��  �
���� ��	� �� �)�*+,�-- =�	� 	� �2�� 
��
	��
���	3 ����	�������� ��� �)�*+,�-- =� �
�� �� ���	�
	�� 	�
	 �	 �� ��������
	� ��	�� ��� 	�� �� ���; ������	��� ����	��� ε̂� 	�� �� ���; ����
�	��� ����; n̂ 
��
	�� �� ���; ������	���	� σ̂ �� 	�� �
� ����
��� �
����

�)�*+,�-- 	��� @� � �� ������� ����	�
	�� =��� ������������ �
����
	�� ��
����� ����2��
	��� �����	�� ��� 
 ��  ����
� =
	�� ���� �� ����	���� =�	���	
���	��� 	��
	 ��	� +�� ��	� 
� 	��� @� 	�������� ��� +73  �
���� ��	� =
�
��	�� ���� 
�� ����� 	� �� =�	��� 	�� �
��� 1.7 − 2.4 μm� +�� �
 ��� ����
�
2
	��� ������� =
� 	��� ��	� �3�� �� ������������ 	�� =
	�� ���������� 	� �
����
	�
�
 ���� =�	� 
� �;
�	��  
	����� 	�������� 
�� �� ������	� ��� +73  �
����2
 ��	�� �� 	�
	 	�� +73 �
��
	��� �� 
������� �� 
����;� 
	��� 30%� +�� �
 ���
	�������� �� 
 �����
� �
�
 �	�� ��� �������� ���
��� 	��� ���� �� @� � �� 	����2
���� ����= 140 nm� �� ��	 
����� ������ �
��
	��� 	� ������  �
���� ��	��
+��  �
���� ��	 �����	
��	� ��� 	���� @� � �� �� ����� 	�
	 �	 =
� ������ 	�
	
�
��� �� 	�� �;	�
�	�� ������	��� ����	���� �	 �� ��	 �������� 	� ��
= 
�� ���2
�������� 
���	 	�
�����	  ���
��� �� %����>���	��� 
� � ���	
�	 �
�	�� �� 	��
�
 ��� �� ������	�� ���
��� @� 	�������� �
��
	��� ����� 	�� �� ��
	��� ���2
	����	��� 	� 	�� 	�	
�  �
���� ��	 ������

'(



+� ������ 	�� ������	��� ����	��� 
�� 	��� n̂ 
�� σ̂ ��� 	�� +73  �
����2
 ��	�� 	��  ���� ��� 	�� ������	��� ����	��� �
����
	��� �
� 	� �� �������� +��
���������� 
������ 	��� @� ��� ��
 ���������� 	�� ������	��� ����	��� ED
 "1F ��
���� 
 ������ ����� 
����;� 
	���� �� 	�� �����	��
	�� �
 ���� �� �)�*+,�--

�� ��
��� ���	� 	� �� 	������ 	�
� �
 ���� ����������  �
����� =�	� 	�� �
 �
�;���� ��	
� ��	�� ED
 "1F� E-��"8F� 	�� 
��� �	���� ���������� 	�� �
����	� ��
	�� 
������ 
����;� 
	��� �
�� ��	 ����  �	� +� ��
��
	� 	��  �
����� �
	


�� 	� �;	�
�	 	�� ��	����	���  
	���
� ������	��� 
 �� ���	��� ��G����	 =
� ���
������� 	�� �����
� ��� ��
 ��� 	�� ������	��� ����	��� �� ����
��� �
� ���� � 2
��� ��	�� 
�� 
�������

��	� 	�� �� ���; ����
�	��� ����; 
�� 	�� ������	��� ����	���� 
� 	��� 
��
���
	�� �� ε̂ = n̂2� �� ��	 ���= 
�� �����@�
�	 ���>����� ���������� �� 	�� ��2
���	��
	�� �
��=��	�� +�� �
���� �� ��	� �
�	� �� 	�� ������	��� ����	��� 
��

����;� 
	��� 9�(ε̂) = [9 ± 3.0] 
�� : (ε̂) = [2.3 ± 1.0]� +�� ��	
���� �����	�

�� �� ���� 
���� ��	 =�	� �����	� ����� �� ��	��
	��� E-�H+"/F� ��	� ������	���
����	���� 
�� �� 	�� �
 � ����� ��  
���	����� ���	��� ��G�������  
� �� ��� 	�
��G����	 	���� �� �)�*+,�-- ����	���� 
�� ����	�
	�� ���� �� ��	�  �
����2
 ��	��

����	���
���� =� �
�� �;
 ���� 	�� ������	���	� �� �)�*+,�-- �� 	�� �
�
����
��� ������ =�	� 	� �2�� 
�� 	��
���	3 ����	������� 
�� �� �
��� �	 =�	�
������	���	�  ����� ���������� ���� ��
��� �
������ 4�����  ����� ����� - �	�
 ����5 
�� ������� ������	��� 4�
��
��� �
��� �������� >�
�	�  ���
���
�
	��������5� :	 �
� ���� �����	�� E�7*"1F� E6
�"'F 	�
	 	�� ����	��� 	�
�����	
��  
��������� ���	
���� �� �� ��
	�� �� ��
��� �
����� �������� 7�=����� 	���
�������  ���
��� �
� ��	 ���� �������� =�	� +�2+-� +�� +73 ����
� �� 
�
��	���
	��  
	���
� �������� ���� 
 ���	 ��3� �� �
� 100 μm �� ��
 �	��� %�
���
�
������ ������
	� ��� 	� �;��	
	���� =�	� 
� �������	 ����	��� @��� =�	� 
 +73 ���2
>������ +���� 	���� ������
	���� 
�� �� �
�� �	�� �
���� +73 �
��
	��� �������
���
� ��
��� �
����� ������
	���� 
�� ���� ��	 ������� ��K����	 ������ 	� ����2
�� � 	�� �;��	��� ��	��	�
� �
������� +�� ������	���	� 
�� ������	��� ���
���� ��
�)�*+,�-- ���� ��	 �����= 	�� �� ��� �����  ���� ���������� 	�� �������� ��
���� ��
��� �
������� +��� �)�*+,�--� 
� ���
��� �� �������	��� �� ��	 �� 2
�
�
��� =�	� ��
����
�  �	
�� 
� �	 �
� ���� ������� ��� 
�����
	�����

+� �;��
�� 	��  �
����� ��	��
� ������	���	� =� �
�� �� �
��� ��� �����	�
=�	� 	�� ������	���� �� 	�� ����� - �	�  ����� :	 �� 
 �����
��3
	��� �� 	��
��
����
� ����� ��� ��
 
�����	��� ��� 	�� ��B����� �� ���
��3�� �	
	�� �� 	��
������	���	�� +�� ����� - �	�  ���� @	� 	�� �;���� ��	
� �
	
 ���� =���� ��� 
	�� ������	���� �� 	�� ����� - �	�  ���� 	�� ��
� 
 ���>����� =
� ��	� 
	��
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ωp = 103±16 THz 
	 ��� 	� ���
	��� 
�� 	�� ��
		����� 	� � �� �)�*+,�--
τ = 3.1±0.2 fs� =���� �� �� �
�
��� =�	� 	�� ��
		����� 	� � �� ���� τFe = 2.4 fs 
	
273 K E��'.F� +�� ��
��� �
����� ������	�
	��� �� �)�*+,�-- =
� �
����
	��
	� �� n = (3.3 ± 0.7) · 1017 cm−3� =���� �� �����@�
�	�� ��=�� 	�
� ��  �	
���
=���� n ≈ 5 · 1022 cm−3 E��'.F�

�� �
�� ���@� �� 	�� �;��	���� �� 
 ��
���
	�� �	���	��� �� �)�*+,�--
	��� @� �� =���� �
� ���������� ���� �����	�� �� E-?�"'F� E6
�"'F 
�� E+D++"/F�
=�	� ���� +�����
��� � 
��� �� �)�*+,�-- @� �� ��	
���� =�	� 
	� ��
�����  ���������� ����
��� 	�� ���� ��I�  �����	���	��� 
�� �������� ����� 
2
	��� 
���	 	�� @� 	��������� =���� =
�  �
����� 
	 	�� �)�*+,�-- 2 �������
����� ��� 
	��� �� ��� �
�	������ =�	� �)�*+,�-- ��
��� ���������� �� �--
������ 
�� �-- =
	�� ����������� �����
	�� �� 	�� �������� �� ���
��3�� ��
��2��	���
:� ����� 	�  ��� ��  
��������� ���	
���� ����	���� �
�� 	� ������ � ��	��	�
�
�
������ �;��	��� ��	=��� 20 − 30 � ���� ��
���� %�
��� �
������ 
�� 	�
����
=�	��� 	���� ���
��3�� ��
��2��	�� ������	��� �� ������ ������	��� �)�*+,�--
��
��� ���������� �� ����
	��� �-- ������� �� �������� 	�
	 ���
��3�� ��	�� �;��	

��� ������ 	���� ������ ������	��� ��
����

+�� ����� - �	�  ���� @	� 	�� �;���� ��	
��� ��	�� ���� ������	���	� ���2
���	�� =���� +�� ����� - �	�  ���� =�	� 	�� @		�� ������	���� ������	� cn = −1
������	�� 	�
	 ��
��� �
������ 
�� ��
		���� 
	 
� 
���� �� θ = 180◦� 
� cn = 〈cos θ〉�
+���  �
��� 	�
	 �� 
���
��� ��
��� �
������ 
�� �
����
		����� � �������� �;2
��
�
	��� ��� 	�
	 
� 	�� �
�����  �	��� ��  ��� ������ 
���� 	�� ���� �� ��
��
E���"8F� E�
�"1F� �	 �
� �� ���������� 
� ���2�� ������
�� : ����	��� 
�� �	���2
	��
� �����	� ������ �)�*+,�-- ��
��� =���� 
�	 ���� ��
		����� ���	���� =�����

�����	��� ��� 	�� ��� �� ������
��	� �� 	�� ���	� � ��
��� ���� ��� ���������	�
��� ��
		�����, �
����
		������ :� ����� 	�  ��� ���=
�� ��
��� �
������ ����� ���
	������ 	�� ��
		����� ���	��� �� 	��� 
��� 
�	��
	�� ������� �� �� 	��������
	������ 	�� ��	��	�
� �
������ �� 	�� ��
		����� ���	���� 7�=����� 	��� ����	�����
�
� 	� �� ���	��� �����	��
	���

-������������ =� �
�� ��	 �������� 
�� 	� ���
	��� ���������� �� 	�� ������2
	���	� �� �)�*+,�-- =�	��� 	�� �
��� ��� / D 	� ("" D� ��	� ��
��� 	�
�����
 ���
��� � ������	 �� ������	��� ���� ���, �
�� 	�
�����	 
�� ������� 	�
��2
���	 ���= �����@�
�	 	� ���
	��� ����������� ��� 	�� @��	 ���� 	�� ��
���
�
�����  �����	� �����
��� =�	� �����
���� 	� ���
	���� �=��� 	� ��=�� ��
		�����
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� �������� �� 	��
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	���
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���	�� @��� 4 �D = ε �E5�
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	��� �
� �� ��������� �� 	�� � �� 	�� ����
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	� � ���
��
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Einc Eref

������ ��!, +73 �
��
	��� Eincident(r, t) 	�
�� ������ 	������ 	�� 	=� �
��� ���2
	� 2 ��������� �
�	� +�� �����������  ���� �� 
���

�������� 	�� �
����
�I� 	����� �� 	�� ���>����� �� 
�� �����

Esample(k, ω) = Hsample(k, ω) · Href(k, ω) · Eincident(k, ω), 4��$5

Eref(k, ω) = Hair(k, ω) · Href(k, ω) · Eincident(k, ω), 4��!5

=���� Hi 
�� 	�� ������������� 	�
����� ����	���� �� 	�� ω ��
��� +��������
	�� �
	�� ��  �
����� ����
�� �� 	�� ���>����� �� 
��  ��	������ �� 	�� �
�	��

�����	��� ��� ����	�� 
���	�� ����
�
	��� �� 
�� Hair ����� 	�� ��
����� 	�
�����
����	��� Hexp �� 	�� �
 ���  
	���
��

Hexp(k, ω) =
Esample(k, ω)

Eref(k, ω)
=

Hsample(k, ω) · Href(k, ω) · Eincident(k, ω)

Hair(k, ω) · Href(k, ω) · Eincident(k, ω)
. 4��(5

�������� 	�
	 	�� �
 ��� 	�������� �� ���=� 	�� 	�
����� ����	��� �� 
� 
��
�
��� Hair �
� �� �
����
	���

Hexp(k, ω) · Hair(k, ω) = Hsample(k, ω). 4��/5
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 ���  
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�� =���� 	�� ����	 ���� �
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  ���� ��� Htheor = Hsample�

)�� +���� ����(	
���

%������� 
� ����	�� 
���	�� =
�� Eincident ����
�
	��� �� ��� �� ������ 	������
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� ���=� �� 	�� ���	��� ���� ��$� )
��  ���� �
� 
 	��������

�� 
 ����
�	��� ����; ������������� 	� ni� di� ����	� Eincident �� �
�	�
��� ��B��	��

�� �
�	�
��� 	�
�� �		�� �� 	�� ��	���
�� ��	=��� 
�� 
��  ���� $� �� 
��
���� ��	����	�� �� 	�� 	�
�� �		�� �
�	 �� Eincident� 
� 	�� ��B��	�� �
�	 �� 	��
���� ��� �
��
	��� ���� ��	 ��
�� 	�� ��	��	��� +�� ���
���� �� Eincident =���
�
����� 	������ 	�� ��	���
�� ��	=���  ���
 �� 	=� ��G����	 ����
�	��� ����;�� ��
��������� �� 	�� �������I� �>�
	���� E���"$F� 7��� =� 
��� � 	�
	 	�� �
 ���
��
�� �� ��	�����
� 	� 	�� �����	��� �� ����	 ����
�
	��� z� :	 �����=� 	�
	 	��

���� �� ��������� �� 90◦ 
�� 	�� ��������I� ���K����	� ��� 	�
�� ������ tij 
��
��B�;��� rij 	
�� 
 ��� 

tij =
2ni

ni + nj

, 4��15

rij =
ni − nj

ni + nj
. 4��.5

<���	 E1 	�
�� �		�� 	������ 	�� ��	���
�� 0 − 1 �� 	��� ����� ��

E1 = t01Eincident. 4��'5

*� 	�� �
 ��� �����
�� 2 ��	���
�� 1−2 ��	=���  ���
 $ 4�)�*+,�-- �
 2
���5 
��  ���
 ! 4-������ ����	�
	�5 2 	�� ����	�� 
���	�� =
�� �� 
�
�� �
�	�
���
	�
�� �		�� 
�� �
�	�
��� ��B��	��� 9�B��	�� ����	 ���������  ��	���� ��B��	����
������ 	�� �
 ��� ED
 "1F�
���	���� ��B��	���� ������ �
��� ! 4����	�
	�5 
�� �� 	�� ����� �� ���� ��������

�� 	�� 	� ���
� =����= �� 	�� +73 =
����� ��	��	��� �� �� 	� 0.8 ps� 	��  ��2
	���� ��B��	���� 
�� ��	���� 	�� 	� ���
� =����= �� 	�� +73 ��	��	���� +��������
 ��	���� ��B��	���� ������ -������ =
��� �
� �� ������	��� :	 �����=� 	�
	 M � 

�
�	�� ����������  ��	���� ��B��	���� �� M = 1 ��� 	��� �
���� 7�=�����  ��	����
��B��	���� ������ 
 	���2@� �
 ��� 4�
��� $5 �
�� 	� �� 
�����	�� ��� ������(�
����	� 
 �
�	 �� 	�� =
�� E1 �� 	�
�� �		�� 	������ 	�� �
��� $ 4�� ��B��	����

������ 	�� �
 ��� E1 = ER05� 
 �
�	 
�	�� �
���� ����
�
	�� 
	 
 ���	
��� d1�
�� ��B��	�� 
	 	�� ������ �����
�� 1 − 2 E1r12 exp (2ik1d1)� :	 	��� ����
�
	��
�
�� 
�� �� �
�	�
��� 	�
�� �		�� �� 	�� ��	���
�� 0−1 Eout� 	��� �
�	 �� �
��
	���
���� ��	 ��
�� 	�� ��	��	��� 	��� �� ��	 ��	����	���� 7�=����� 	�� ��B��	�� �
�	
����
�
	�� �
�� 
�� 
�	�� ��� ��	���
� ��B��	��� 4
	 ��	� �����
����5 �� �>�
�
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	� ER1 = E1r01r12 exp (2ik1d1)� :	 ��	� 
�
�� �
�	�
��� 	�
�� �		�� 
�� �
�	�
���
��B��	�� E���"$F�

x

layer 1
n1    d1n0 n2

Einc E1= ER0 ET1

Eout ER1 ET2

Eout ER2 ET3

t01 t12M

������ ��(, ���	���� ��B��	���� ������ 
 	��� @� �

+�� ��	��	�� ����
� �� 	�� �� �� 
�� =
��� 	�
�� �		�� 	������ 	�� ���	� �
+�� �� 	��� =��� ������	�� 	�
�� ������ ����	�
 =��� �������� ��� "�8 ��� =����

�����	� ��� 
����;� 
	��� ("  ��	���� ��B��	���� ������ 	�� �)�*+,�-- 	���
@� �

Esample = ET1 + ET2 + ET3 + .... 4��85

+��  ��	���� ��B��	��� �
�	�� � ���������� ��@��	���  
�� ��B��	���� ������
	�� �
 ��� �� 	��� �>�
� 	�

M = 1 + r10r12 exp(2ik1d1) + (r10r12 exp(2ik1d1))
2 + .... 4��#5


� �	 �� 
 �� �� 	�� ��� �	��� ������ �	 �� �>�
� 	�

M =
1

1 − r10r12 exp(2ik1d1)
. 4��$"5

-�  
��3���� 	�� ����	�� 
���	�� =
�� 	�
�� �		�� 	������ 	��� ���	� �
�
�� =��		�� 
�

Esample = t01e
ik1d1Mt12e

ik2d2t20Eincident. 4��$$5

�� �������	 ����	�� 
���	�� =
�� 	�
�� �		�� 	������ 
 ��������� ���	� 
����4��!5� =���� ������	� �� 
�� 4�
��� $5 
�� 
 ����	�
	� 4�
��� !5� �
� �� �����2
���	�� 
�
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Ereference = t00e
ik0d1t02e

ik2d2t20Eincident. 4��$!5

��	� ����
�� Esample 
�� Ereference 
��  �
������ 	���� �
	�� �� 	�� ���>�����

�� 
�� ���	
��� ����� 
	��� 
���	 	�� ������	��� ����	���� <�	 Q =
Esample

Ereference
�

��	�� ����	 �
����
	���� =� ��	
�� 	�� �����
� �;�������� ���
	��� 	�� �� ���;
	�
�� ������ Q 	� 	�� =
����� I� ��
�� ����	 δ�

Qeik0d1
2n0

n0 + n2

=
t01t12

exp(−iδ) − r10r12 exp(iδ)
4��$(5

+�� ���	 ���� �� �>�
	��� 4��$(5 �� 	�� �;���� ��	
��� ��	�� ���� 	�
�����
����	��� �� 	�� ���	� Hexp� =���� 	�� ����	 ���� ��������	� 	�� 	�����	��
� 	�
��2
��� ����	��� Htheor� ��	� δ = k1d1 = ωd1n1

c
�>�
	��� 4��$15 ����� 	�� �����
� �;2

�������� ��� 	�� 	�����	��
� 	�
����� ����	��� �� 	�� �����	��
	��  
	���
�� Htheor

������� ��  
	���
� �
�
 �	����

Hexp = Qeik0d1
2n0

n0 + n2

4��$/5

Htheor =
t01t12

exp(−iδ) − r10r12 exp(iδ)
4��$15

Hexp − Htheor = 0 4��$.5

�
	���
� �
�
 �	�� �;	�
�	���  �
�� ������� �>�
	��� 4��$.5� �� �>�
	���
4��$(5 �
���	 �� ������ 
�
��	��
���� �	 �
� �� ��	��� 
����;� 
	�� �� ������
�� ����
���� <�	 �� �;����� ��	� ���������	���� ����	� =� ������ 
 ��� ��
 ���
	�� !�� ����� 
����;� 
	��� �� 	�� ������	��� ����	���� 9����	� ��	
���� =�	�
	��� 
����;� 
	��� =��� �� �� �
��� �� ���	��� ��1 =�	� �����	� �� 	�� �� ����
�
����	��� �� )>�4��$.5 ��� �
�����  
	���
���

)�� ��� ����� 	

��'��	
���

<�	 n1 = n �� 	�� ��
����� ����
�	��� ����; �� 	�� �
 ��� 4�
��� $5� �� n2 =
ε �>�
	��� 4��$(5 ���	
��� ����� 
	��� �� 	�� ������	��� ����	���� +� @�� 
�

����;� 
	� ����	��� �� )>�4��$(5 =� �;�
�� 	�� �;�����	�
� ����	��� �� 	��
+
���� ������ 
�� ����	�	�	� exp(iδ) = 1 + iδ − δ2

2
	� �>�
	��� )>�4��$(5,

Qeik0d1
2n0

n0 + n2

=
2n02n

(n0 + n)(n2 + n) exp(−iδ) − (n − n0)(n − n2) exp(iδ)
.

4��$'5
��	� ε = n2 ��
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Qeik0d1
2n0

n0 + n2
=

2n0

(n0n2 + ε)(−iωd1

c
) + (n0 + n2)(1 − (

ωd1
c

)2ε

2
)
, 4��$85

=���� ����� 	�� 
�
��	��
� �;�������� ��� 	�� ������	��� ����	��� �� 	�� !��
����� 
����;� 
	���,

ε = − c

ωd

iωd1

c
(n0n2) − (n0 + n2) + (n0+n2) exp ik0d1

Q

i + (n0 + n2)
ωd1

2c

. 4��$#5

��� 
�� �
����
	���� =� 	
�� nair = n0 = 1.0+0i 
�� ��� nSi = n2 = 3.4155+0i�

)�� +���� ,���	����

+�� 
���� �������  ���� �� ���� 	� �
����
	�  
	���
� �
�
 �	��� �� 
 ���	� ��
��	����	 =�	� 
� 
��� �	��� 	�
	 	�� 	�����	��
� 	�
����� ����	��� �� ����	��
� =�	�
	��  �
����� 	�
����� ����	���� +� ������ 	�� �
����	� �� 	��  ���� =� � ���� 	��
�����=��� �����	��� =���� �
�� 	� ��  �	 ��� 	��  ���� 	� �� ������	, 	�� ��� ��

4��$(5 �
� 	� �� ����������� ��� =�
	 	��� �� �
 ���� ���� 	�� 
����;� 
	���
����C

)�" +���� � ����

�� 
� 	� ����� 
� �������	 ����	�� 
���	�� ������ � +�� ���������� Q ��
ε �� ����� �� 	�� 
���� ���������  ����� +�� �
��� �� Hexp = Qeik0d1 2n0

n0+n2

�� ���=� 2 �	 �� 	�� 	�
����� ����	��� �� 	�� �
 ���  
	���
�� �	 �� 	�� �
	�� ��
	��  �
����� ����
�� �� 	�� ���>����� �� 
��� �� 
�� ��	����	�� �� �;	�
�	���
 
	���
� �
�
 �	��� ��� 	��  �
����� ����
��� =���� 
�� n� ε 
�� σ� 	��� =�

�� ������� ��� 	�� ���������� ε(Hexp)�
�� ��������� �� ��
�	�� � =� �
� ��� 	=�  �	���� ��� �
�
 �	�� �;	�
�	����

����	� �	 �� 	� ����� 	�� �����
� ��� ��
,

Qeik0d1t02 − t01t12
exp(−iδ) − r10r12 exp(iδ)

= 0, 4��!"5

=�	� δ = k1d1 = ωn̂d1/c� )>� 4��!"5 �� �>���
���	 	�

Q =
t01t12e

−ik0d1/t02
exp(−iδ) − r10r12 exp(iδ)

, 4��!$5

Q =
2n0

n0+n̂
2n̂

n̂+n2
e−ik0d1/ 2n0

n0+n2

exp(−iωn̂d1/c) − n̂−n0

n0+n̂
n̂−n2

n2+n̂
exp(iωn̂d1/c)

. 4��!!5
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Q − Lgen(n̂, n0, n2, d1, ω) = 0, 4��!(5
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�� 
�� �� ���; ����
�	���
����; �� 
  
	���
�� �� @;�� �
�
 �	��� n0� n2� d1� ������ 	�� 	�����	��
� 	�
�����
����	��� Qtheor�
���� �3��� 	�� �;�������� �� 	�� ���	 ���� �� �>�
	��� 4��!(5� =���� �� 	��

��G������ ��	=��� 	��  �
����� 	�
����� ����	��� Q 
�� 	�� 	�����	��
��� ��	��2
 ���� 	�
����� ����	��� Qtheor �� 	�� ! �
���  ���� ���	� 4�5� ��
���� @�����
	�� ����	���� =���� �� 	�� �����=� ���>����� ��������	 �� ���; ����
�	��� ����;
n̂�
+�� ������ =
� 	� �;	�
�	  
	���
� �
�
 �	��� �� 	� �
����
	� ε �����	�� ��


����;� 
	��� exp(iδ) ≈ 1 + iδ − δ2

2
�� 	�� �����
� ��� ��
 4��!!5 ED
 "1F� +��

������	��� ����	��� ε �� ����� 	��� ��

Qeik0d1
2n0

n0 + n2
=

2n0

(n0n2 + n̂2)(−iδ/n̂) + (n0 + n2)(1 − δ2

2
)
, 4��!/5

ε = − c

ωd1

iωd1

c
(n0n2) − (n0 + n2) + e−ik0d1 n0+n2

Q

i + (n0 + n2)
ωd1

2c

, 4��!15

:� 
�
����� �>�
	���� 4��!/5 
�� 4��!15 �
� �� ��������	�� 
�

Q = L2nd(n̂, n0, n2, d1, ω), 4��!.5


��

ε = L−1
2nd(Q, n0, n2, d1, ω), 4��!'5

=���� ε̂ = n̂2�
+� ����� 	�� �
����	� �� ��	� �
	
 ��
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�� �
����
	�� 	��

������	��� ����	��� �� 	=�  
	���
�� ���������� �����	��
	�� =�	� 	�� �
 �  �
2
���� ��	 ��	��� ��� ��������� �� ��
���	� 47����� *������ ������	�� ?�
���	�
2 7*�?5 ��� ED
 "1F� E-��"1F 
�� ��� 	�� �����������	�� Bi2Sr2CaCu2O8+δ

�-%%* ��� E-��"8F�

�
���	��
	 ���	�
�� �� *����
��

+� �� �
�� 	�� 	=�  �	���� =� �
�� �
����
	�� 	�� ������	��� ����	��� �� ��
���	�
47*�?5 ����� ��	�  �	����� 9����	� 
�� ���=� �� 	�� ������/�
����	� 	�� !�� ����� 
����;� 
	��� �� 	�� ������	��� ����	��� =
� �
����
	��

=�	� 	��  �
����� 	�
����� ����	��� Q� =���� ��

εblack = L−1
2nd(Qblack, n0, n2, d1, ω) 4��!85
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L2nd 	� 	�� �
����
	�� 	�� ������	��� ����	��� εblack

Qred = L2nd(
√

εblack, n0, n2, d1, ω). 4��!#5

+�� �����	��� ���
����
	�� 	�
����� ����	��� Qred �� �;
�	�� �>�
� 	� 	�� ���	�
�
	�
����� ����	��� Qblack� ���	��� ���� �����	� �� 	�� ��;	 	���� �	��
	����
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εgreen = L−1
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